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Question Number : 1 Question Id : 7532295666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six people P, Q, R, S, T and U are sitting near each other in a straight line. All are facing north. Only S is sitting between R and T. U is second to
the right of Q. T is to the immediate left of Q. Who is sitting to the immediate right of P?

Options :
1. * R
2.%T
3.9U
4. % S

Question Number : 1 Question Id : 7532295666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FE AP, Q,R, S, THRUTH g & M T NN Ul A 98 g1 TN T I SR B ARGIR MR TH I Faad S 3181 U, Q F
TR AR TR VMR ISR T, Q & T3 3R 316 T A 931 5| P P a8 3R 31 I H DI 937 87

Options :

1. ¥ R

2.% T

3.¥U

4. % 3

Question Number : 2 Question Id : 7532295667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of six friends buying tickets at the ticket counter in a line, Anvesha is just behind Kartik. Two persons are standing before Kartik.
Vidushi is just before Pranjal but after Anvesha. Naina is just before Sampat. Who is standing at the front end of the row?

Options :

1. # Sampat

2. % Anvesha
3. # Pranjal

4. % Naina

Question Number : 2 Question Id : 7532295667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fethe BIIR R fedhe Tiien & foIT WS 38 Sl &1 T Ul # 33T, ifcies & dip N 31 &) A, Sifeiep & i @S §1 fagh,
Uioid I Slep 3, Afp 3w & Ui §1 371, TUd & Sl M B 1 Ufdd & e RR R 9 W1 22

Options :
1. % qud
2. % 3N
3. % Joid
4. ¢

Question Number : 3 Question Id : 7532295668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Seven friends A, B, C, D, E, F and G are watching a movie sitting adjacent to each other in the same line. G is third to the left of A. F is fifth to
the left of B. A is second to the right of D. C is to the immediate right of F. G is exactly on the middle seat. Who is sitting between G and B?

Options :
1. * E
2.% C
3.D
4. % F

Question Number : 3 Question Id : 7532295668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A, B,C,D,EFIRGIH G UM A TS g S TN 96 A ST} 81 G, A H T8 AR TR VM W B F, B F I18 3R Uiad
RFWREIA,D P S ARG B/IFAWREI C, F P als 3R 3% a0 H g1 G Ufad & A aTell e W g1 G 3R B & A DI 961 82
Options :

1. % E

2. % C

3.D

4. % F

Question Number : 4 Question Id : 7532295669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four friends are sitting in the front line of a cinema hall. Another four friends are sitting just behind the front row persons. Both the lines are
facing north. Harprit is just behind Devanshi. Daisy is sitting between Prachi and Faizan. Sukarma is at one of the corners in the front row. Only
Amit is between Manish and Sukarma. Prachi is just behind Sukarma. Who is sitting just behind Manish?

Options :

1. #* Harprit
2. ¥ Faizan
3. # Daisy

4. # Prachi



Question Number : 4 Question Id : 7532295669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3 T R giat &1 Sl o1 Ufekd 7 98 B 1 30 R 1, S &) Uikt H 98 safaaidl o 3o Ui 98 8 1 I Ufekrdl | oS aafadd ST
B 3R T BRb 96 &1 e, It & Siep e 33171 SO, Uit 3TR o1 & ot 331 B 1 opHT 3 bt Ufey  Teb RR R A3T 81 AW
3R gopdf & e bad Hd o1 1 U, YoHd! & Sl S 931 81 77w & Siep TIw P S31 82

Options :

1. ® g

2. ¥ B

3. % it

4. % gt

Question Number : 5 Question Id : 7532295670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

70 students are standing in a row in the order of their heights. Romila is 17th from the front end of the row whereas Jonita is 52nd from the last
end of the row. If Shivika is 22nd from the front end, how many persons are standing between Shivika and Jonita?

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 5 Question Id : 7532295670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

70 faenef, 3o <iaTgal & U H Us dfdd # WS B 1 AfFran tfdd & 3rTa RR 173 WF | §, Safes Sifar ufdd & fUsa RR @ 523 e
WR g1 gfe RAfdeT 3rra RR 228 WM W g, 1 e 3k sifar & oiw fa safed @S 82

Options :

1. % 1

2.9 2




3. %3
4. % 4

Question Number : 6 Question Id : 7532295671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If March 21st, 2012, is Wednesday, what would be the day of the week on September 20th, 2012?
Options :

1. # Tuesday

2. % Wednesday

3. % Thursday

4. # Friday

Question Number : 6 Question Id : 7532295671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 21 AT, 2012 B GYAR 7, 1 20 ISR, 2012 BT TG BT D14 41 feA G2
Options :

1. ® HIAAR

2. # gYdR

3. ¥ T[dRR

4. % R[hdR

Question Number : 7 Question Id : 7532295672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nine boxes numbered 1 to 9 are kept one above the other. Box 7 is just above box 9. Two boxes are lying between the box 4 and 5. Box 3 is third
from the top. Box 5 is between 1 and 3. Box 1 is the fifth box from the bottom. Box 8 is just above box 3 but just below box 6. Three boxes are
lying between boxes 1 and 9. Which boxes are lying between box 3 and box 7?

Options :
1. % Only 1,2 and 4
2. % Only 1,2 and 5



3. Only 1,2,4and 5
4. % Only 2 and 4

Question Number : 7 Question Id : 7532295672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 ¥ 9 TP HHID aTdl =1 Sl B U & $HUR U & STIR QT T ¢ | ST 7, TN 9 & 31h SR ¢ | ST 4 3R ded 5 & o1g J g1 Fiay
S SR 3 SR ATR YA R G5, T 1 RT3 P AT gl S 1, 1 I U6 ™M R g 9199 8, S1a 3 P 31 FW 8,
AP STeRT 6 P Slp I g1 ST | IR TT 9 P ST H AT ST & | 1T 3 3R ST 7 & o1 B I 1T 82

Options :

1. % $ad 1,2 3R 4

2. % Had 1,2 3R 5

3. FHad1,2,4 3R 5

4. % Had 2 3R 4

Question Number : 8 Question Id : 7532295673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons A, B, C, D and E reside on five floors of a building; the floors are numbered 1 to 5. They belong to one of five different professions
i.e. engineer, doctor, designer, carpenter and plumber. D is a carpenter who lives on floor 2. C is not a doctor. The designer and doctor have the
maximum floors possible between them. A is not a designer; B is neither a doctor nor a designer. The plumber lives on floor 3. Two floors are
there between the floors of engineer and designer. Only B lives between A and D. Who lives on the top floor and what is that person’s
profession?

Options :

1. # E, Engineer
2. ¥ E, Doctor
3. # C, Engineer
4. # D, Doctor

Question Number : 8 Question Id : 7532295673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uig SIfed A, B, C, D 3R E T AR &1 Ui AfSal IR I8d o, Al ol 1 ¥ 5 T shHifhd [haT 7T g | d U 31eT-31eT SIaardl Siufd




SOIfR, Sider, foos R, 9¢s IR W A Y U Y Yafdd & | D U §¢s o, ol Hivld 2 R IgdI gl C Sidex Aol g | fSoER iR Sfaex &t
AT & o, HiTal ! Sifeidmdd JHTTId T-T Hivlg 5| A fSoE-R 781 §; B 7 <l Slae § 3R 1 &l feueR 8 | ek, HfSd 3 W I|gdT g
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ok T TG T &2

Options :

1. % E, $olfAmR

2.+ E, 3l

3. % C, 3O

4. % D, Sigex

Question Number : 9 Question Id : 7532295674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
Some mountains are beautiful.
All beautiful are seas.

Conclusions:
I. Some seas are mountains.
II. Some seas are beautiful.

Options :

1. # Only conclusion I follows.

2. % Only conclusion II follows.

3. % Either conclusion I or II follow.
4. ¥ Both conclusions I and II follow.

Question Number : 9 Question Id : 7532295674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 7T HY 3R FIHHT &1 YA UG | B B € 718 SIMBRI &l I AFd gY faaR &3, 4ol 81 a8 IH=ua: I1d 9t 9 g udta
giat 81, 3R T8 X b feu U fAep ot & ¥ D19 T U o1 difches U J UTe HRd g




HY:

$ TS Y o |
T YR 9 B
fsep:

L $S 9% RIS ]
1. 8 9% Yar ¢ |
Options :

1. % PHad (AspY [ UTa- HRarg |
2. % Had fsHY 11 T AT B |

3. % grd ey 17 11 uTes RAT 2 |
4.« BN 1 3R 11 SHI1 & UTa hd §

Question Number : 10 Question Id : 7532295675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

All ornaments are stones.
No garden is stone.

All lights are ornaments.

Conclusions:

I. No garden is light.

II. Some gardens are ornaments.
III. No ornament is garden.

Options :

1. # Only conclusion I follows.

2. % All conclusions I, II and I1I follow.
3. # Either conclusion II or III follow.
4. ¥ Both conclusions I and III follow.



Question Number : 10 Question Id : 7532295675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T HYT 3R FISHH! &1 &FYdd U | B B & 718 SR &l I A gY faaR &%, Hal 81 a8 IH=ua: I1d 9t ¥ g udia
glcht 81, 3R 79 B b feu U fAep ot & ¥ 19 T Syl o1 difches U J UTe Hd g |

$fﬁ:f: %
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fsm:

1. Pls AT A3C el 8

II. $T ST MY & |
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Options :

1. % had fpy [ U HaT gl
2. % gt e 1, 11 3R 111 UTe HRA B |

3. % gl ey 11 a7 1 Ut B gl
4.« Y 1 3R 111 ST g1 UTel hd gl

Question Number : 11 Question Id : 7532295676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, SCRUTINY is written as YUTSRNIC, MEAGRE is written as RMGEEA. How will PROLIFER be written in that
language?

Options :

1. ¥ RRPOLIFE

2. # RPROILFE

3. # RRPLOIFE

4. ¥ RROPLIEF

Question Number : 11 Question Id : 7532295676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf3d §e U &, SCRUTINY &1 YUTSRNIC, MEAGRE & RMGEEA foraT STl § | 3t §e HTNT H PROLIFER &1 fhd YRR forat
ST

Options :

1. ¥ RRPOLIFE

2. % RPROILFE

3. % RRPLOIFE

4. % RROPLIEF

Question Number : 12 Question Id : 7532295677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, BELGIUM is written as LEBGMUI, PRUDENT is written as URPDTNE. How will CLOSING be written in that
language?

Options :

1. ®* OCLSGNI

2. ® OLSCGNI

3. ¥ OLCSGNI

4. % OLCSNGI

Question Number : 12 Question Id : 7532295677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T %A $e WIS 8, BELGIUM $I LEBGMUI foRaT ST 8, PRUDENT @1 URPDTNE foran SiTa g 1 3%t §oe WTST H CLOSING &1 fhd
UehR forar s

Options :

1. % OCLSGNI

2. % OLSCGNI

3. ¥ OLCSGNI

4. % OLCSNGI



Question Number : 13 Question Id : 7532295678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, SMART is written as 191311820. How will PLAYFUL be written in that language?
Options :

1. % 171212572112

2.9 161212562112

3. % 161212561221

4. % 161111562111

Question Number : 13 Question Id : 7532295678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YA Fe U & SMART 1 191311820 forar Srar1 8 | 3 e WIS H PLAYFUL &1 for UepRR ferar simaem?
Options :

1. % 171212572112

2.9 161212562112

3. % 161212561221

4. % 161111562111

Question Number : 14 Question Id : 7532295679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, DERIVE is coded as 126, PLOY is coded as 136. How will NECTAR be coded in that language?
Options :

1. * 112

2. % 118

3.¥ 122

4. % 130

Question Number : 14 Question Id : 7532295679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T FAf3d %e WIS & DERIVE @1 126 3R PLOY I 136 ToraT SITd1 § 1 S e HTST H NECTAR &I fhd UHR forar smam?
Options :

1. % 112

2. % 118

3.¥ 122

4. % 130

Question Number : 15 Question Id : 7532295680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, MOTHER is written as NLGSVI. How will CHARITY be written in that language?
Options :

1. % XSZIRGV

2. % WSZIRFB

3. % XSZJSGB

4. ¥ XSZIRGB

Question Number : 15 Question Id : 7532295680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T M3 B T &, MOTHER &I NLGSVI T ST 81 391 e TN H CHARITY & fhd TR ferar S
Options :

1. ¥ XSZIRGV

2. % WSZIRFB

3. % XSZJSGB

4. ¥ XSZIRGB

Question Number : 16 Question Id : 7532295681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, GENERATE is written as H G Q I W G A M. How will FREEDOMS be written in that language?



Options :

1.#* GTHIJUSB
2. GTHIIUTA
3. GTHIIVUA
4. # GTHJKUTA

Question Number : 16 Question Id : 7532295681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf3d B U &, GENERATE ®TH G Q I W G A M foraT STTa 8 | 34T §e UTST H FREEDOMS &1 fohd TR ferar saem?
Options :

1.* GTHIJUSB

2. GTHIIUTA

3. GTHIIVUA

4. % GTHIJKUTA

Question Number : 17 Question Id : 7532295682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, FIXTURE is written as GHYUTSD, PRINCE is written as QSHODD. How will OPERA HOUSE be written in that
language?

Options :

1. % NQDSZ IMTRD
2. ¥ NQDSZ INTTD

3. % PQDQZ INTTD

4. % NODQZ GNVTD

Question Number : 17 Question Id : 7532295682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YA Fe U & FIXTURE &1 GHYUTSD foraT SITdl 8, PRINCE 1 QSHODD foraT STl 81 3% e UTST § OPERA HOUSE &1 fard
YehR ferar e



Options :

1. # NQDSZ IMTRD
2. % NQDSZ INTTD

3. % PQDQZ INTTD

4. % NODQZ GNVTD

Question Number : 18 Question Id : 7532295683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankit walks 15 m towards south from his home, then he turns right and walks 20 m. After that, he turns left and walks 25 m. Then he turns right
and walks 25 m. He finally turns right and walks 40 m. How far is he from his home now?

Options :
1.¥ 45m
2. % 50m
3. % 55m
4. % 65m

Question Number : 18 Question Id : 7532295683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iferd 397 TR q 30T Bt 3R 15 m Td 8, fhR 98 ST g1 § 3R 20 m TSl 8| ISP 1C, 98 ¢ JSaT & 3R 25 m IAar g | R a8
ST ST § 3R 25 m IAdT ¢ | 98 3id H &1¢ ST € 3R 40 m IAdT ¢ | 316 T8 3T TR I fohe- g 82

Options :

l.¥ 45m

2. % 50m

3. % 55m

4. % 65m

Question Number : 19 Question Id : 7532295684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One morning, Pritam is standing in a park facing a pole. If the shadow of the pole falls to the left of Pritam, then in which direction is he facing?



Options :
1. # East
2. % West
3. % North
4. % South

Question Number : 19 Question Id : 7532295684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP gag, Wdd Tsh Ui § T WH &1 3R g Fb Wel ¢ | e TN B ST Hidd & 975 3R USdl &, dl Su! g [y G=m# g2
Options :

1. % 7qd

2. % UigH

3. ¥ 3

4. % CfEor

Question Number : 20 Question Id : 7532295685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven houses P, Q, R, S, T, U and V are located in a colony. P is 45 m north of T. U is 30 m east of Q. R is 80 m north of U. R is 30 m east of P. S
1s 35 m east of R. V is 18 m north of P. What is the straight distance of Q from T?

Options :
1. % 80 m
2. % 45m
3. % 90m
4. % 35m

Question Number : 20 Question Id : 7532295685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH HIAT H AT R P, Q,R, S, T, USSR VRARIPL TH 45 mIWAGI U, QP 30mT@HGIR, UP 80mSWRHAGIR, PH 30 mTd A
BIS,RF3SmYAHEIV,PFH 18 m SR AT TH Q & Tteh gt favat 82



Options :

1. ®* 80m
2. % 45m
3. % 90m
4.9 35m
General Ability2
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Group Id : 753229296
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Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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Group Marks : 20
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General Ability2
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Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 7532295686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to the photograph of Neeta, Rekha said, ‘She is my mother’s only daughter’s husband’s daughter. If Rekha is the wife of Sumit, how is
Neeta related to Sumit?

Options :

1. % Sister

2. % Daughter
3. ¥ Mother
4. ® Niece

Question Number : 21 Question Id : 7532295686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬂm?qﬁﬁﬁ\%ﬁ?é’ﬁﬁma@\mﬁ¢sl,ﬂ'gﬁﬁﬂTHﬁ%ﬁ?ﬁg?ﬁ%trﬁfﬁgBﬁ%lH%i@gmﬁﬁueﬁ%,a‘r:ﬁmmgmﬁﬁw
qdY 5?2

Options :

1. % dgd

2. ¢

3. % 7

4. % cfoil

Question Number : 22 Question Id : 7532295687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pranay is the father of Swati. Yukti is the sister of Dolly. Swati is Giru’s sister. Pranay’s only son is the father of Dolly. Manya is Giru’s mother.
How is Pranay related to Manya?

Options :

1. % Paternal grandfather
2. % Father

3. ¥ Husband

4. % Paternal uncle



Question Number : 22 Question Id : 7532295687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jurg, aifd & fUar 8| gfad, Siell &1 984 | | Wifa, s &1 98 | | YUK &1 3dhaldl U, STl & UdT g | A1, iR &1 | § | Wor &7 A/
SESIRER RS

Options :

1. % qalal

2. % fUdr

3. ¢ Ufd

4. % M

Question Number : 23 Question Id : 7532295688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

‘A & B’ means ‘A is the husband of B’

‘A =B’ means ‘A is the mother of B’

‘A % B’ means ‘A is the father of B’

‘A~ B’ means ‘A is the brother of B’

IftHAZ %Y & Q=R"YV, then how is Z related to Q?

Options :

1. * Father

2. * Paternal grandfather
3. % Father-in-law

4. % Paternal uncle

Question Number : 23 Question Id : 7532295688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Figd gy d,

'A&B BIAST-'A, BHIU T

A=B BHTIIZ-'A, BHIATT,



'A%B H3fg-'A, BHIUarg’

'AANB BT R -'A, BHIHE B

GEHAZ% Y& Q=RAVE, AZ B QI T IY §?
Options :

1. % fOar

2. % gTal

3. ¢ TR

4. % T

Question Number : 24 Question Id : 7532295689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

‘A’ $ B’ means ‘A is the wife of B’

‘A # B’ means ‘A is the daughter of B’

‘A @ B’ means ‘A is the son of B’

‘A > B’ means ‘A is the brother of B’

fV#CSM>G @ T>S @ P $ N, then which of the following statements is correct?

Options :

1. # G is the paternal aunt of V.

2. # S is the father of M.

3. % N is the father of T.

4. ¥ N is the paternal grandfather of C.

Question Number : 24 Question Id : 7532295689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Fid gy H,

'A$B BTG -'A, BB UAI g

A#B BRI -'A, BIIT T,

'A@B BTAHIG-'A, BRI

'A>B B HIT-'A, BHIHE T
IREVH#CSM>G@T>S@P$N g, d ufcfaa & § oF a1 Hy7 I8 82



Options :

1. % G, VoI IRl gl
2. % s MBI AT gl
3. ¢ N, THITUarg|
4. % N,C TSI gl

Question Number : 25 Question Id : 7532295690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Contemporary’ is related to ‘Ancient’ in the same way as ‘Proliferation’ is related to
Options :

1. ¥ Decline

2. % Ascend

3. * Fruition

4. ¥ Multiply

Question Number : 25 Question Id : 7532295690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT W (Contemporary)' T ICiE| (Ancient)' ECHEEL] %, S IR (Proliferation)' &' ' Jg
Options :

1. ¥ BIY (Decline)

2. % IRIGU (Ascend)

3. # WIq (Fruition)

4. % U (Multiply)

Question Number : 26 Question Id : 7532295691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘COLD-34’ is related to ‘XLOW-74" in the same way as ‘MAY-39’ is related to "
Options :



1. ®* GHB-69
2. ® FYN-42
3. ¥ NZB-42
4. % NZB-69

Question Number : 26 Question Id : 7532295691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'COLD-34' BT 'XLOW-74' ¥ Tg! Ua¢ &, ST 'MAY-39' BT’ Ei]
Options :

1. % GHB-69

2. % FYN-42

3. ¥ NZB-42

4. % NZB-69

Question Number : 27 Question Id : 7532295692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words does NOT share the same relationship as that shared by the given pair of words.

Blogger : Blogs

Options :

1. % Tailor : Clothes

2. % Carpenter : Chairs
3. % Librarian : Books

4. % Cartographer : Maps

Question Number : 27 Question Id : 7532295692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &1 997 &, fors QU U Xsal & o1 a8 TaY 81 &, o1l faU U Xea-JH & Uedl H dd g |




SR : SANT

Options :

1. % gol: HUS
2.*@6@:?@&1:[

3. ¢ QDI : Qb
4. % QHEDR : AHRA

Question Number : 28 Question Id : 7532295693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

12, 11, 20, 57, 224, ?
Options :
1. % 925
2. ¥ 1115
3. % 648
4. % 860

Question Number : 28 Question Id : 7532295693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fyeweat § § I e &1 9u- Fiforg, s Fafafad 9oft & oy Rg (2) & R W 31 Tl g

12, 11, 20, 57, 224, ?
Options :
1. # 925
2. ¥ 1115
3. % 648
4. % 860

Question Number : 29 Question Id : 7532295694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the fourth number in the same way as the first number is related to the second number and the fifth number is
related to the sixth number.

74 :38::7:56::102:52
Options :
1. # 100
2. % 108
3.9 110
4. % 112

Question Number : 29 Question Id : 7532295694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [qaed &1 997 Sifory, foreT ardt e 3 98! dae §, off gl S8 &l ga] e 9 ¢ SR uiad! 4e &1 56! G d |

74 :38::7:56::102:52
Options :
1. # 100
2. % 108
3. 110
4, % 112

Question Number : 30 Question Id : 7532295695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four number-pairs have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. *® 15:195

2. % 17:255

3.¥19:401

4. % 25:575



Question Number : 30 Question Id : 7532295695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR JE-giH feu e g, 5 § i fopdt ave T T § SR U 3/Td 8 | 3/Td &1 99 S|
Options :

1. % 15:195

2. % 17:255

3.9 19:401

4. % 25:575

Question Number : 31 Question Id : 7532295696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option correctly represents the approximation of the given number to four decimal places?

45.863882
Options :
1. % 45.8638
2. % 458640
3. ¥ 45.8639
4. % 45,9000

Question Number : 31 Question Id : 7532295696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 fapey <) 7S T & IR SYHAd RIMI dob i &) 91 ¢ <fdr 82

45.863882
Options :
1. ® 45.8638
2. % 45.8640
3. ¥ 45.8639



4. # 45.9000

Question Number : 32 Question Id : 7532295697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A denotes ‘addition’, B denotes ‘multiplication‘, C denotes ‘subtraction’, and D denotes ‘division’, then what will be the value of the following
equation?

I5B30D6C45A36D (14D 7)="?
Options :
1. ® 66
2.9 48
3. % 40
4. % 36

Question Number : 32 Question Id : 7532295697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl A BT 31 ST 8, ‘B! b1 31 U B, 'C' BT 31 'HeT § SR D' b1 31ef | B, <t e sHiieb o1 A F g

I5B30D6C45A36D (14D 7)="?
Options :
1. ® 66
2. % 48
3. % 40
4. % 36

Question Number : 33 Question Id : 7532295698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the following equation correct?

18+12x20-24+6=12



Options :

1. % +and -
+and +
+ and X

x and —

- ﬁ.&

2
3.
4

Question Number : 33 Question Id : 7532295698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau o gHieRur Y et B & foru fohe ) gl &Y iU | gear S e

1I8+12%x20-24+6=12
Options :

1. % +3R-

LR

+3—ﬁ?x

x 3R —

- ﬁ.(\

2
3.
4

Question Number : 34 Question Id : 7532295699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that can replace the question mark (?) in the given figure and complete the pattern if no rotation
allowed.

Options :



Question Number : 34 Question Id : 7532295699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 facheq &1 9o & oft &1 713 21 7 9 g (2) 1 ufaeuifiid X Gehal € @R U &l [ R Gl § A
M &1 AR e 81

Options :



Question Number : 35 Question Id : 7532295700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure will replace the question mark (?) in the following figure series?

P

Options :

slEls



Question Number : 35 Question Id : 7532295700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FOfRad 2M1efa g § SH-U1 AH T HaEd [Og (7) I Hiaiad S

il o JFED

Options :

2.¥

3. %



.

Question Number : 36 Question Id : 7532295701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.

Options :
£
/N
N L
1. v
N

A\
d®
N

N

/

4 G D




Question Number : 36 Question Id : 7532295701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FOfeRed IR siefaal 8 9 7F Ul U iR die O 99 ¢ 9fR U@ a9 ¢ 1 370 I f9v &1 909 o3|

Options :

N
/N

1.¢




Question Number : 37 Question Id : 7532295702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :

L1
<Oy




Question Number : 37 Question Id : 7532295702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafeiRad IR aipical & 9 iF bl U Figd dlic d GH € SR U [99d ¢ | fwH &1 98+ Y|

Options :

Al

3. ¢




Question Number : 38 Question Id : 7532295703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
DOCUMENT

Q
Options :
. DOCONWENL
L« TAUMUDOA
ThhaMll )OO
3. ¢

,« DOCNWNMUEL

Question Number : 38 Question Id : 7532295703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fGU 1T TS o el GUUT Hidfds &1 99 6 ofd GUUI &l [GENU IE 38R PQ W @I T 8 |

P
DOCUMENT

Q
Options :
 « DOCNONEMNUL

,» TAVMMUDO0A
TNAMUODOA
3.¢¥

s« DOCNINUEL

Question Number : 39 Question Id : 7532295704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?




Options :

o e
O
o
o
L% 0O
O
o
O
2. ® =
O
o
o
3. ® > 8
o O
(o]
o O
4.9

Question Number : 39 Question Id : 7532295704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 40 Question Id : 7532295705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the given figure is embedded (rotation is NOT allowed).

N

Options :

1. ¢




Question Number : 40 Question Id : 7532295705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fased 1 997 3 o <1715 315 TfAfed € (FAH 1 SFAfd el )|

O

Options :




-
2. %
3. %
4. %

General Awareness1

Group Number : 3
Group Id : 753229297
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awarenessl

Section Id : 753229297
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229358
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532295706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following actors was conferred with the 51st Dadasaheb Phalke Award?
Options :

1. #* Mohanlal

2. ¥ Rajinikanth

3. #* Dhanush

4. % Chiranjeevi

Question Number : 41 Question Id : 7532295706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 9§ forg AT &1 514 <TeT ATed Wi TRIGR F T forar 1 g2

Options :
1. % HigTard
2. ¢ TSHIebid
3. % 4y




4. % fRSlId!

Question Number : 42 Question Id : 7532295707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who headed the five-judge Constitution bench of the Supreme Court which delivered the verdict on the Ram Janmabhoomi-Babri Masjid title
suit?

Options :

1. # S Abdul Nazeer
2. % Ashok Bhushan
3. # DY Chandrachud
4. ¥ Ranjan Gogoi

Question Number : 42 Question Id : 7532295707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I THYH-STER) ARG Wi A IR Hodr M arel SEdd Arad &1 ura--arandien aret Saue aadis &1 Add fean o
Yyr?

Options :

1. % TY. 3fegd oIk

2. ¥ 3N YYUI

3. % 81918, dagg

4. IS TS

Question Number : 43 Question Id : 7532295708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following persons is NOT a recipient of the Nobel Prize in Physics 2021?
Options :

1. * Syukuro Manabe

2. % Klaus Hasselmann

3. ¥ Giorgio Parisi



4. ¥ Abdulrazak Gurnah

Question Number : 43 Question Id : 7532295708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T T fHd 2021 7 Hifdd! & &3 T Tod REBR I G e fobar 71 g2
Options :

1. % PRI TS (Syukuro Manabe)

2. % FARSY ggTHT (Klaus Hasselmann)

3. % forfofar ARt (Giorgio Parisi)

4. ¥ 3HogRVIIP TRATE (Abdulrazak Gurnah)

Question Number : 44 Question Id : 7532295709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a digital certificate that authenticates a website's identity and enables an encrypted connection?
Options :

1. ¥ SSL certificate

2. ® DSL certificate

3. # TCL certificate

4. ® FTP certificate

Question Number : 44 Question Id : 7532295709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁﬁﬁﬁ?wwmm @fefrde) §, S U dadTSe &1 U B! THIOIT HRdT § 3R TUHPE HaRM &Y e F=1dl
?

Options :

1. ¢ TY.TY.Uc]. UHIUIUA (SSL certificate)

2. % 31.0Y.Ud. YHTUIYA (DSL certificate)

3. % 21 U, YHIUTGS (TCL certificate)




4. % UG AU gHOgH (FTP certificate)

Question Number : 45 Question Id : 7532295710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was National Commission for Women established?
Options :

1. % 1991

2.9 1992

3. % 1993

4. % 1994

Question Number : 45 Question Id : 7532295710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS ARG SHTANT 1 RITUT e g8 &t
Options :
1. % 1991
2.9 1992
3. % 1993
4. % 1994

Question Number : 46 Question Id : 7532295711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following schemes provides a five-year fellowship in the form of financial assistance to students from six notified minority
communities in India?

Options :

1. # Syed Saif Abbas National Fellowship

2. ¥ Maulana Azad National Fellowship

3. % Abdul Haq Azmi National Fellowship

4. ¥ Mirza Ghulam Ahmad National Fellowship



Question Number : 46 Question Id : 7532295711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ%ﬁ%@dﬁ-—l@q\l\ﬂﬂl URA H ¢ SIRRYed Seaiedd THerl & S @ [adiid TeTadl & U H Ui auid BalRg (Seadghd) JaH

Options :

1. % 9Ue 9 3fesy AP BRIy (Sfedrg)
2. ¢ T TG P BATRM (SHAgHT)

3. % fegel B SHTTH IFT BARIT (3redrgf)
4. % TOST AT SfEE T B (Srargr)

Question Number : 47 Question Id : 7532295712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a scheme that prepares minority students for competitive examinations to improve their participation in private and
Government jobs, by providing financial support for free coaching in selected coaching institutions?

Options :

1. ¥ Naya Savera
2. # Abhinav Gyan
3. % Gyan Uday

4. ¥ Navjot Seva

Question Number : 47 Question Id : 7532295712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § DI Ao, SeuRied ST B Faf-d HIeHT TR H Tud HITHT 8 AT TgrIdl UGH &b (ol 3R IRSRT AbRal &
I HRTERT H guUR gq Ufaarh oiensif & fau R &t |2

Options :

1. ¢ TTHRT

2. % AT I

3. % A3



4. % Fgold gaT

Question Number : 48 Question Id : 7532295713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which player won the highest cumulative number of medals in the Olympic games?
Options :

1. # Boris Shakhlin

2. % Nikolai Andrianov

3. % Larisa Latynina

4. ¥ Michael Phelps

Question Number : 48 Question Id : 7532295713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g @F‘I’I@ 7 3ficifus Wal § TR Jaiee Uadh (highest cumulative number of medals) Sid %?
Options :

1. ® §IRY rafe (Boris Shakhlin)

2. % f@Idrs USAMIG (Nikolai Andrianov)

3. % QARET QAT (Larisa Latynina)

4. ¢ HIZHA B (Michael Phelps)

Question Number : 49 Question Id : 7532295714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whose kingdom was conquered by Chandragupta Maurya?
Options :

1. ¥ Dhana Nanda

2. % Mahapadma

3. % Panduka

4. % Govishanaka



Question Number : 49 Question Id : 7532295714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI 1 A fhass sy W fasr o &t o
Options :

1. ¢ YHg

2. % Hglu«d

3. % UIgP

4. % TfA=FTH

Question Number : 50 Question Id : 7532295715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the second Mughal ruler of India?
Options :

1. # Babur

2. % Humayun

3. % Jahangir

4. % Akbar

Question Number : 50 Question Id : 7532295715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR BT GIRT YIS IS DI UT?
Options :

1. # dlsR

2.V gAY

3. % GBI

4. % b}



Question Number : 51 Question Id : 7532295716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is known to be the founder of the Pandya dynasty?
Options :

1. # Pulakesin

2. % Kadungon

3. % Dhruva

4. % Vikramaditya

Question Number : 51 Question Id : 7532295716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & T o8 UTvsy IId e T RIS HIHT STl 82
Options :

1. % QbR

2. ¥ B

3. % 4q

4. ® fgmACc

Question Number : 52 Question Id : 7532295717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of The Liberation Tigers of Tamil Eelam, a Tamil militant organization that was based in northeastern Sri Lanka?
Options :

1. % Charles Lucas Anthony

2. ¥ Velupillai Prabhakaran

3. ® Vinayagamoorthy Muralitharan

4. % Sathasivam Krishnakumar

Question Number : 52 Question Id : 7532295717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TR HiciT & dfid SeRTaare W+, & foravs e i 3iith dfiid SaH & JRITTH B &2
Options :

1. % I gpr G

2. ¢ JqfUcaTs UHTHA

3. % fqTarf TRaRA

4. % FEIRIAH PUHHR

Question Number : 53 Question Id : 7532295718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series of 12 terrorist bombings in a single day took place in Mumbai (Bombay) for the first time in the year
Options :

1. * 1992

2.9 1993

3. ¥ 1994

4. % 1995

Question Number : 53 Question Id : 7532295718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gl 7 Ugd! §R 4as (@) H U fo § RIaRicaR 12 sfiddard! 91 ¢ g4 31
Options :

1. % 1992

2.9 1993

3. % 1994

4. % 1995

Question Number : 54 Question Id : 7532295719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At which of the following places was former Indian prime minister Rajiv Gandhi assassinated?



Options :

1. # Mahabalipuram

2. % Sriperumbudur

3. # Thiruvananthapuram

4. % Coimbatore

Question Number : 54 Question Id : 7532295719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & Jd GUTHAT Iohia el 1 gt fohd =i W g8 e
Options :

. ® HEISaigH

2. ¢ UGG

3. % fova-idqRe

4. % DIYIR

Question Number : 55 Question Id : 7532295720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years, VAT was introduced as an indirect tax in the Indian taxation system to replace the existing general sales tax?
Options :

1. % 2001

2. % 2005

3. % 2008

4, % 2011

Question Number : 55 Question Id : 7532295720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frg g, Tafera T faeht HR & RIF IR Th 3UE HR & TG H d¢ (VAT) B R ST oredt § =i faar mar um

Options :



1. % 2001
2. ¥ 2005
3. ¥ 2008
4. % 2011

Question Number : 56 Question Id : 7532295721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘Chhatrapati Shivaji Maharaj Vastu Sangrahalaya' was formerly knownas ©
Options :

1. ¥ The Prince of Wales Museum of Western India

2. ® The Queen's House

3. % Albert Hall Museum

4. ® King George VI and Queen Elizabeth Memorial

Question Number : 56 Question Id : 7532295721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BAYR FRIarel TeRTS IR YUGTed' &) Ugal ! ' AT ST ST T

Options :

1. ¢ & T 3iTth dc RIforaH 31t ave gl
2. % THIH gR3Y

3. % 3fcEc gid WforgH

4. ® THT IS vI TS S Tfereay aaiad

Question Number : 57 Question Id : 7532295722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nalanda Mahavihara was founded by .
Options :

1. # Chankya



2. % Kumargupta I
3. % Chandragupta
4. % Ashoka

Question Number : 57 Question Id : 7532295722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e HEMOER dIRMTAT . J @1 4|
Options :

1. # dulg

2. ¥ PRI I

3. % g

4. % 3H

Question Number : 58 Question Id : 7532295723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a folk dance of Himachal Pradesh?
Options :

1. # Pung Cholom

2. # Chhau

3. % Hikat

4. ¥ Nati

Question Number : 58 Question Id : 7532295723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 8§ S 1, fedr=d U™ &1 A% T4 82
Options :

1. % Qaa

2. % 8%




3. % @Pprd
4. ¢ A1

Question Number : 59 Question Id : 7532295724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cities is the Rajasthan International Folk Festival organized on an annual basis?
Options :

1. # Jaipur

2. ¥ Jodhpur

3. % Udaipur

4. % Bikaner

Question Number : 59 Question Id : 7532295724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forr 3R T Ufcia IR SIARTPN A HeIeid BT SIS foba STl g2
Options :

1. # Sy}

2. ¢ SIYR

3. % 3aUYR

4. % SIDHR

Question Number : 60 Question Id : 7532295725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a famous festival in Odisha that pays tribute to the menstruation cycle?
Options :

1. ¥ Raja Festival

2. # Chandan Yatra

3. % Mahabisuva Sankranti



4. % Chhau Festival

Question Number : 60 Question Id : 7532295725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T q HH U1 dIER 3nfeen &1 ulig TIeR §, S Wi etf = & ufa T gxifdr 82

Options :
1. ¥ 7ol HEId
2. % A g
3. % HgIdyd Ashifd
4. % B3 AR
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Number of Questions to be attempted : 20



Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532295726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following musical instruments is Anayampatti S. Ganesan associated?
Options :

1. # Tabla

2. ¥ Jalatharangam.

3. ® Flute

4. % Banjo

Question Number : 61 Question Id : 7532295726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SFITHUEY T, ORI S8 I o arer 7 @ WEfd 8
Options :

1. % ddcll

2. ¥ SARTH

3. % gL

4. % ool

Question Number : 62 Question Id : 7532295727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following persons was a famous classical Carnatic musician?
Options :

1. * Murali Ramalingam



2. ¥ M. Balamuralikrishna
3. % Balaji Rajagopalan
4. ® Jacob Desugar

Question Number : 62 Question Id : 7532295727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o # ¥ B URig TR s SiideR 92
Options :

1. % TRl EfeTH

2. ¥ UH EIWWWT (M. Balamuralikrishna)
3. % qefrSil ASHYTe

4. % JHd TP (Jacob Desugar)

Question Number : 63 Question Id : 7532295728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of the year 2021, Which of the following is the second-largest nationalized bank of the country (India)?
Options :

1. #® State Bank of India

2. ¥ Punjab National Bank

3. # Bank of India

4. ® Canara Bank

Question Number : 63 Question Id : 7532295728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ay 2021 T U BRI & IR, HRd BT IR T ST APTIPHd b DI 41 g2
Options :

1. % YR }C oF

2.« USTd AR o




3. % % 3w gfear
4. % PRI

Question Number : 64 Question Id : 7532295729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which company constructed the Statue of Unity?
Options :

1. ¥ Larsen & Toubro Ltd.

2. ¥ GMR Infrastructure Ltd.

3. # Macrotech Developers Pvt. Ltd.

4. ¥ NCC Ltd.

Question Number : 64 Question Id : 7532295729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e It et o1 Fufor fose droet = fasa
Options :

1. v ARIA €S goll fafiics

2. % Gil.TH.3R. (GMR) SRCRR faftics

3. % HISHhich SIAUY UIsdc [Affcs

4, % T (Neeo) fafies

Question Number : 65 Question Id : 7532295730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a Government of India scheme designed to provide continuous electricity supply to rural India?
Options :

1. ® Pradhan Mantri Vaya Vandana Yojana

2. ¥ Deen Dayal Upadhyaya Gram Jyoti Yojana

3. # Atal Ujjwala Yojana



4. # Deen Dayal Upadhyaya Grameen Yojana

Question Number : 65 Question Id : 7532295730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 7 T 98 HH-IT YR WRBR Bt TISHT 7, S A HRA BT FRAGR fagga Smyfe uam & & fore siftesfetd 72
Options :

1. % JYTTHA a7 d&- g

2. ¢ &9 <UTel SUTEHT ITH SN Ao

3. % 3{cd Iwadl rel

4. % I T IUTEHTT TTHIUT TS

Question Number : 66 Question Id : 7532295731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years the Ministry of Finance (MoF) appointed Disinvestment Commission?
Options :

1. % 1988

2. % 1996

3. % 1999

4. % 2001

Question Number : 66 Question Id : 7532295731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g avf fa Hamera (MoF) A fafRawr smaiv &1 e+ far um
Options :

1. % 1988

2.9 1996

3. % 1999

4. % 2001



Question Number : 67 Question Id : 7532295732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the biggest country (by land area) in the continent of Africa?
Options :

1. ¥ Algeria

2. % Libya

3. * Niger

4. % Angola

Question Number : 67 Question Id : 7532295732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3PIHT HeTgIU H Tay ST o1 (Y & 850 d & STYR WR) DIF I 82
Options :

1. ¢ 3ol

2. % difear

3. ® Aok

4. % I

Question Number : 68 Question Id : 7532295733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the median or average age of the country’s population as per the Census of India 2011?
Options :

1. ® 29.6

2.%249

3. % 18.6

4. % 16.7

Question Number : 68 Question Id : 7532295733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2011 BT HR STHTUMT & SIHR, S DI SIHEREAT S1 ATed T 3 31 fat ot
Options :
1. % 296
2.9 249
3. % 18,6
4. % 167

Question Number : 69 Question Id : 7532295734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total population of Delhi was approximately crores as per the Census of India 2011.
Options :

1. * 1.89

2. % 1.39

3.9 1.68

4. % 1.99

Question Number : 69 Question Id : 7532295734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 1 YR SRTUMT & IR fect! Bl Hel S8 TTHT CRSRIT
Options :

1. * 1.89

2. % 1.39

3.9 1.68

4. % 1.99

Question Number : 70 Question Id : 7532295735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



As per the latest India census, which of the following states has the highest population of Bohra Muslims in India?
Options :

1. # Maharashtra

2. ¥ Gujarat

3. % Utter Pradesh

4. % Kerala

Question Number : 70 Question Id : 7532295735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATAH YR SO & SR, R & 30 3 fohd I § S18=T1 TUaH! &1 STeed Ja 31 g2
Options :

1. % TERIY

2. ¢ TRId

3. % IW UK

4. % Hd

Question Number : 71 Question Id : 7532295736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Port of Kandla is also known as

Options :

1. # Syama Prasad Mookerjee Port Trust
2. ¥ Deendayal Port Trust

3. % Jawaharlal Nehru Port Trust

4. # Sardar Port Trust

Question Number : 71 Question Id : 7532295736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hedl GG (Port ofKandla)ﬁ W HT ST 8|
Options :



1. % AT Y1G G@oit 41 ¢
2. ¢ GG Ul T

3. % SATERATd H8® Ul o
4. % IRER U T

Question Number : 72 Question Id : 7532295737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the largest lake in the world by surface area?
Options :

1. ¥ Caspian Sea

2. # Lake Superior

3. # Lake Victoria

4. # Lake Huron

Question Number : 72 Question Id : 7532295737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UETY (e &hd Bl €S I 3y Bt wed 31 S B Al 82
Options :

1. ¢ HRYTT IR
2. % YOifeR 3fia
3. % fageifear aha
4, % GRE d

Question Number : 73 Question Id : 7532295738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a chemical base of DNA?
Options :

1. % Adenine



2. # (Cytosine
3. #* Guanine
4. % Uracil

Question Number : 73 Question Id : 7532295738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 4 S I1, SLT.U (DNA) BT IS YR a1 82
Options :

1. % USH

2. % rgaiH

3. ® M

4. ¢ R

Question Number : 74 Question Id : 7532295739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the chemical formula of Methane?
Options :

1. ¥ CHy

2. % CyHy

3. % C4Hy

Question Number : 74 Question Id : 7532295739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T P IS G T 82

Options :

1. ¥ CHy



2. % CyHy
3. % C4Hy

Question Number : 75 Question Id : 7532295740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The elements that have the same number of protons but different numbers of neutrons are called?
Options :

1. # Raibotopes

2. ¥ Isotopes

3. % Galavnotopes

4, % Tsomers

Question Number : 75 Question Id : 7532295740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T deal B! T BT Sl 7, 0 WieiAl &t Tea 9uH, fhg gl o1 g fir gt 82
Options :

1. % S

2. ¢ TSHICTH

3. % e

4. % TSHEY

Question Number : 76 Question Id : 7532295741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The SI unit of weight is

Options :

1. % Sigma

2. ¥ Newton



3. ¥ Ohm
4. % Mole

Question Number : 76 Question Id : 7532295741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRPBTSIAESG  Brgl
Options :

1. % Ry

2. ¥ YcH

3. % 3|

4. % O

Question Number : 77 Question Id : 7532295742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Right to Property ceased to be a ‘fundamental right’ in India in the year
Options :

1. % 1973

2.9 1978

3. % 1982

4. % 1995

Question Number : 77 Question Id : 7532295742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H Uy &7 PR, a¥ o T i SHUBR 8T G
Options :

1. % 1973

2. ¥ 1978

3. % 1982



4. % 1995

Question Number : 78 Question Id : 7532295743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The joint sitting of the Parliament is called by
Options :

1. ¥ President of India

2. % Vice President of India

3. # Deputy Speaker of the Lok Sabha

4. ® Deputy Chairman of the Rajya Sabha

Question Number : 78 Question Id : 7532295743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG B UGad 93 [had gRIT gaTs il 87
Options :

1. ¥ YRd o Agufd

2. % YRd & IWIPUfd

3. % AHYYT b ITHE
4. % IS & UGl

Question Number : 79 Question Id : 7532295744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Comptroller and Auditor General of independent India?
Options :

1. # Vinod Rai

2. % AK Chanda

3. % CG Somiah

4. ¥ V. Narahari Rao



Question Number : 79 Question Id : 7532295744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wi URd & UYY e Td AeToRaT TR1ed $iF 42
Options :

1. % fafe g

2. % T, Tal

3. % TS "

4.+ d1. ReR @

Question Number : 80 Question Id : 7532295745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination is correct with respect to the planet and their corresponding number of moons (natural satellites) is correct?
Options :

1. % Uranus - 27

2. # Neptune - 24

3. % Mars - 3

4. % Saturn - 96

Question Number : 80 Question Id : 7532295745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g GﬁT 3P TTd ?&TITGﬁ (natural satellites) P T b ey T 3'_'|'~E[ I ﬁ:[ GIKRISE ng)[ %?

Options :

1. 320 - 27
2. % 90124
3. % HIA - 3

4. % - 96
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Question Number : 81 Question Id : 7532295746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arithmetic Abilityl

5
753229299

Arithmetic Abilityl

753229299
1

Online
Mandatory
20

20

20

Yes

1
753229360
Yes

What should be subtracted from the sum of 0.052 and 5.006 to get 3.8547

Options :
1 #% 1.102



)« 1.204
3 % 1.104

4 % 1112

Question Number : 81 Question Id : 7532295746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.052 3R 5.006 B GRTHA H Y fHaT 9T OF 93 UT<T GRUMH 3.854 & SI6R g2

Options :
1. % 1.102

)« 1.204
3 % 1.104

4 % 1112

Question Number : 82 Question Id : 7532295747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the product of the largest and the smallest of the numbers 0.25, 3.05, 1.12, 0.092 and 0.03.
Options :

| % 0.00276

5 % 00915



3« 0.0915

4 % 0276

Question Number : 82 Question Id : 7532295747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y@ 0.25, 3.05, 1.12, 0.092 3R 0.03 H ¥ FaU §C| AR YU BICT G-ATH] BT UHHA JTd Hifoid |

Options :
1. % 0.00276

» ® 0915
3« 0.0915

4 % 0.276

Question Number : 83 Question Id : 7532295748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of p if (5.45 +2.25)+p=7
Options :

1% 7.1

2. L1



Question Number : 83 Question Id : 7532295748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe (5.45+2.25) = p =7 &, dl p I AF F1d SIC|
Options :
1. ® 7.1

2. ¢ L1
3. % 7.7

4 % 0.1

Question Number : 84 Question Id : 7532295749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ . . v27.04 +v1.69
Simplify the expression ————

V0.0625
Options :
1. % 2.6
7 # 25
3 #® 260



Question Number : 84 Question Id : 7532295749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HoTeh o T DTy, V270HVLEs

v 0.0625

Options :
1. % 2.6

Question Number : 85 Question Id : 7532295750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T . . 1
Simplify the expression 5 — —
- 1
hig
Options :
2%
1. % 115
il
7 #® 115
i
3 & 115
21



Question Number : 85 Question Id : 7532295750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foh Bl TA HIfTd:

5 FE—

C

= B
Options :

24

1. % 115

24

7 % 115

91

3.4 115

91

4. % 115

Question Number : 86 Question Id : 7532295751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simplify the expression 4 X (12 +3+4+3x1—-2)+2
Options :

1 & —4



I

3.¢ 10

Question Number : 86 Question Id : 7532295751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b B MA DI 4%x (12+3+3x1—-2) =2
Options :

. % —4

I

3 « 10

Question Number : 87 Question Id : 7532295752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. . . 5 3
Simplify the expression —— + —— — ——
va3+y 3 vB—y vB—v5
Options :
1 ® 2

)



o A(E-VE4VE)

4.+ 0

Question Number : 87 Question Id : 7532295752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Loich ol Yo By 2 _ 4 > _ 3

V3+v3 VB VB—y/5

Options :

1. % 2

. 2(Y5+V8)

2.

o A(E-V3+B)

3.

4.¢ 0

Question Number : 88 Question Id : 7532295753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= : ; 12254472 5
Simplify the expression ——"—"—"= — > _
) v3.24+v0.36 VB—y2

Options :
14—
12

1. %

o B
12

2. %



¥3—

14—

Question Number : 88 Question Id : 7532295753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FSIH Bl TR Bifong; 122572 S

V3.24+V0.36 a2z

Options :
14>
12

1. %

) e
) ® 12

) i
3 % 12

.
4.4 12

Question Number : 89 Question Id : 7532295754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shruti scored 65% marks out of 800 marks in an examination. Veena scored 36 marks more than Shruti. Find the

percentage of marks scored by Veena.
Options :



| % 68.4%
5 69.5%
3 % 69.9%

4. % 68.8%

Question Number : 89 Question Id : 7532295754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9ffdl =1 U URIET T 800 T 65% 2ih I [ | 114 Yfd T 36 2 34 U [T | dH1 & UIedich| 1 uia=rd
A B

Options :
1 #® 68.4%

5 & 69.5%
3 % 69.9%

4 % 68.8%

Question Number : 90 Question Id : 7532295755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of k if 140% of k = 28% of 4000.
Options :

1. ® 850



5 & 800

3. % 780

Question Number : 90 Question Id : 7532295755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe k BT 140% = 4000 BT 28% &, Al k BT H J1d BT
Options :
| % 850

7 « 800
3. % 780
4. % 750

Question Number : 91 Question Id : 7532295756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A’s salary was increased by 10% and subsequently reduced by 5%. What is the net increase per cent in his salary?
Options :

1 % 4.2%

7 « 4.5%

o8]
8
L
]

=
=



i
b
Lh
]
L

=}
=3

Question Number : 91 Question Id : 7532295756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AD AT H 10% D1 GG §2 AR TG H 506 D1 DHHI §s | 39 da H §3 UK J1G D1 WA=l [ g2

Options :
1 % 4.2%

Question Number : 92 Question Id : 7532295757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school, there are 54% boys. If there are 552 girls, then how many boys are there in the school?
Options :

1.« 048

) % 680

3 % 720

4 % 744



Question Number : 92 Question Id : 7532295757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fFeeig . 5406 WS ¢ | Ufe [y & asfedl 1 9= 552 2, d aad! &1 9 31d Sifen|

Options :
1« 0648

> % 680
3. % 720
4 % 744

Question Number : 93 Question Id : 7532295758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An item was sold at a profit of 15%o. If its cost had been 5% less and it had been sold for 240 less, the profit would have

been 20%. Find the cost price of the item (in ).
Options :

| % 5,200

> % 4,800

3w 4.000

3,850



Question Number : 93 Question Id : 7532295758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ush ¥ Bl 15% MH W §1 7411 TG SHDI Y He 5% HH Bldl AR TH 240 HH H &1 S, Tl TH 20% BTl
%] b1 Y Hed (2 H) J1d SIS

Options :
1 % 5,200

5 % 4.800
3w 4.000

3,850

Question Number : 94 Question Id : 7532295759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person saves 32% of his income. If his income increases by 25% and the expenditure increases by 5%, then his

savings increases by k%. Find the value of k.
Options :
1. ® 68.2%

5 67.5%



Question Number : 94 Question Id : 7532295759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U e AU 31 H T 3296 &1 g9 Rl 6 | Tl ITD! 3R H 25% I gl il & AR FY H 5% Bl g Il 6,
dl 3! F9d H k2% Bl gf gl 81 k BT HM I HIfSTU

Options :
1. % 68.2%

2 o 07.5%
3 #® 606.5%
4. % 65%

Question Number : 95 Question Id : 7532295760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest on a certain sum for 2 years at 6.5% per annum is T975. Find the sum (in ).
Options :

| = 7,200

5 % 7.400

3w 7,500

4 % 7,680

Question Number : 95 Question Id : 7532295760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U T FRIRI TR 6.5% TIMND SHNl ©f G2 U 2 TN HT GIYRUT &6 2975 § | Y-RI1R1 (2 H) I Hifoig |

Options :
| % 7.200

5 % 7.400
3w 7.500

4 % 7.680

Question Number : 96 Question Id : 7532295761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anu invested a total of 29,900 in two schemes A and B on simple interest at 8% p.a. and 5% p.a., respectively. If she

earns 1,845 as interest in 3 years, then what was the sum (in ¥) invested in scheme B?
Options :

| % 5.600
5 @ 5.900

3 % 6.000

4 % 5.800

Question Number : 96 Question Id : 7532295761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A gl aiore A 3R B T HHRE 8% dTtidh 3R 506 ATt GIYRU] &G & & WR Hd 29,900 HI A AT
gfc 39 3 N H &9 & U H 21,845 YT 8id &, 0 i B H Ma=1 &1 715 iR (2 #) J1d Sifod |

Options :
| % 5,600

5 & 5.900
3 % 6.000

4 % 5,800

Question Number : 97 Question Id : 7532295762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A certain sum increases by 60% on simple interest in 5 years. Find the simple interest on a sum of 212,000 in 3 years at

the same rate of interest.
Options :

| = 4,280

) ® 4,300

3 % ¥4.316

4 v 4320

Question Number : 97 Question Id : 7532295762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IR ST U3 & 15 U (I ¢RI 5 99 H 92 @ T 60% 219 g1 9| g | TH &9 &2 U 212,000 B
eFRITRT TR 3 9 H U TR0 &7 [ HIToTd |

Options :
| % 74,280

5 % 4300
s % 4316

4 v 320

Question Number : 98 Question Id : 7532295763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can do a work in 10 days, 12 days and 15 days, respectively. How many days will they take to do the same
work. if they work together?

Options :



Question Number : 98 Question Id : 7532295763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C U D1 &I AT 10 &, 12 187 3R 15 {67 § R R Favdd €| Il d T Wi e SR R 8, T
3¢ 39 B B T A | b fad T

Options :

Question Number : 99 Question Id : 7532295764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A’s efficiency to do a work is 20% more than that of B. If B can do the work in 18 days, then how many days will A

alone take to do the same work?
Options :
1 ® 13

) #% 14
3.¢ 15

4 % 16



Question Number : 99 Question Id : 7532295764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, Tt BRI &l B 7 B F 20% U5 SRS ¢ | Fi¢ B 3G HA & 18 &4 H R ADhdl 8, 1 A bl 391 B
1 e 121 E R T A

Options :

1. % 13

) ® 14
3. ¢ 15

4 % 16

Question Number : 100 Question Id : 7532295765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work in 15 days. A and B completed the work together and were paid 1,620 and ¥2.430, respectively. How
many days must they have taken to complete the work together?

Options :

5

1. %

2.¢ 0



Question Number : 100 Question Id : 7532295765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH B DI 15 [T H BRI FDAIS| A 3R B - U A1y AdDHR 39 D1 DI G foal AR I8 HHRE: 71,620 AR
32,430 &1 YITAH W G211 35 U 1Y TR 39 b1 ol GR1 & | fdva &1 ol gl

Options :

1
| % B
2.¢¥ 6

1
.
4. % 7

Arithmetic Ability2

Group Number : 6
Group Id : 753229300
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability2

Section Id : 753229300
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229361
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532295766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two pipes A and B can fill a tank in 5 hours and 6 hours, respectively. They were opened together at 4:30 a.m. At 6:30

a.m., pipe A was closed and pipe B continued to fill. At what time would the tank have been full?
Options :

1. ® 7:50 a.m.

> % 8:00 a.m.

3 « 8:06a.m.

4 % 8:10a.m.

Question Number : 101 Question Id : 7532295766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Gl UIST A 3R B U ¢l bl AT 5 U¢ AR 6 9¢ H HR Udhd 8 | 38 WId: 4:30 ol Udh U1Y [IAT 7T4T| UTdh: 6:30
Tol, UTSY A Pl §¢ B G477 SR Uy B U Sl ol HRAT SR 31 T[T | bl faba gof quiarar R T Bl
Options :

T RIGE 7:5{]6@’

5 % I 8:00 §of
s « UG 8:06 §0l

4 % UICE: 8:10 &0

Question Number : 102 Question Id : 7532295767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of 24 numbers is 52. If the average of the first 14 numbers is 50, then find the average of 55, 51 and the

remaining numbers.
Options :
1. % 53.8

5 & 545

3 % 54.8

Question Number : 102 Question Id : 7532295767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

24 TEATAT BT 31N 52 g1 Tfc ggall 14 SBT3 1 A 50 €, 6 55. 51 3R AN I3 T A19d J1d DI

Options :

[wa

1. % 53.

Question Number : 103 Question Id : 7532295768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the average of multiples of 3 lying between 16 and 40.
Options :

|« 28.5

Question Number : 103 Question Id : 7532295768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16 3R 40 & 19 3 dTel 3 & 0TS bl A J1d DIfoTe|



Options :
1.« 28.5

) #% 28
3 % 26.25

4 % 265

Question Number : 104 Question Id : 7532295769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average age of 6 members of a group is 18 years. Two persons A and B join the group and the average age of the
new group becomes 25 years. If A is 10 years older than B, then find the age of A (in years).
Options :
1. #® 50

n
—

2.¥

n
e

3. %

L

4. % 35

Question Number : 104 Question Id : 7532295769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TG & 6 Gl $I A 3A1g 18 T4 ¢ 1 &l G A 3R B 39 g H M 81 91d § 3R 59 YHR a7 ¢
U B! 31d 21g 25 I8 1 Sl § 1 AfG A DT 3R, B Y 10 9 21 . A A B 2 (@ &) F1d Fifo



Options :
1. ® 30

Lo |
—

2.¥

LN
B

3. %

LN ]

4. % 3

Question Number : 105 Question Id : 7532295770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 persons went to a restaurant, 3 persons sat at table 1 and spent 200 each, 4 persons sat at table 2 and spent 3225
each, and 2 persons sat at table 3 and spent 2190 each. | person sat at table 4 and spent 100 more than the average of

all the ten persons. Find the average of the money spent by the persons seated at tables | and 4.
Options :

1. % T205

) ® T220

3 @ 2230

4 % 3236

Question Number : 105 Question Id : 7532295770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



10 AT Ueh Y& H I, 3 AR 08d | W96 AR U o 2200 T by, 4 Aldd 089 2 W dS AR TP 2225
d U, 3R 2 fed ¢T3 TR 96 AR TP H 2190 Wd [hU| | T ¢ad 4 TR 937 AR 399 37 94 & 39
Y 2100 US> T [HU| T 1 3R 4 R 96 AlGHdl GRTE (BT T Y= BT A1 J1d DI |

Options :
1. ® 205

» % 3220

3 v 3230

4 % 3236

Question Number : 106 Question Id : 7532295771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find a single discount equivalent to successive discounts of 10%, 12% and 20%.
Options :

| % 14%

> ® 21%

3 & 36.64%

4 % 42%

Question Number : 106 Question Id : 7532295771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



10%, 12% AR 20% &1 ThHD Bl & A Uhd BE J1d DIT|
Options :
| % 14%

> ® 21%
3 & 36.64%

4 % 42%

Question Number : 107 Question Id : 7532295772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells his goods at 20% discount and still makes a profit of 20%. If he sells the goods at 10% discount,
then find his profit per cent.

Options :

1. % 30%

2 35%

Question Number : 107 Question Id : 7532295772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Udh GG Y- HId Dl 20% BE W a9l g AR (R 1t 209 H1 ATH HHIAI & | AG 98 HId Bl 10% B WR Sl
e, Tl 3YP] HiaId A1H J1d HIfeY|

Options :
1. % 30%

5 & 35%

3 % 36%

Question Number : 108 Question Id : 7532295773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The marked price of an item was ¥7,200. Ashish bought it for Z5.184 after getting 2 successive discounts of k% and

(2k)%o. If both the discounts had been of (2k)% each, then what would have been the selling price (in Z)?
Options :

| % 4580

> u 4,600

3 v 4.608

4 % 4624

Question Number : 108 Question Id : 7532295773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ush %] 1 3Hfdd Ged 27.200 U1 AR 7 Y ko 3R (2k)2%6 P 2 HiTH B¢ YTkl B3 o §1g 25,184 T WlaT| TS
oI el H T Ud® (2k)% DI 8idl, df faHha ged (z #) e gian

Options :
| % 4,580

5 % 4.600
3 o 4.608

4 x 4624

Question Number : 109 Question Id : 7532295774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The perimeter of a square is equal to that of a rectangle whose sides are 11 cm and 7 cm. Find the difference in their

areas (in cmzl.
Options :
1. % 4.8

> % 4.08
3.¢ 4
4 % 425

Question Number : 109 Question Id : 7532295774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



WﬁWWGﬂ W%W%W%WW 11 cm&ﬁ?'fmn%l @%éﬁqﬁﬁﬁ&fﬁ?{cmzﬁ)
RIREAIELY

Options :
1. % 4.8

) % 4.08
3.¢ 4
4 % 425

Question Number : 110 Question Id : 7532295775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the area (in cm?) of a triangle whose sides are 8 cm. 12 cm and 16 cm.
Options :

| ¢ 12915

> % 12v12

3 & 15v12

4 % 1415

Question Number : 110 Question Id : 7532295775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Wﬁﬁﬁﬁﬁ'ﬂﬂt{s em, 12 cm 3R 16 cm%’. G’Fﬂﬁﬂjﬁﬁ W{cmz ﬁﬁﬂﬂ%ﬂl

Options :

1v 12715
\ « 120T2
3% 15V12
4 % 14J15

Question Number : 111 Question Id : 7532295776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perimeter of a parallelogram is 28 cm. If its sides are in the ratio 3 : 4 and distance between the shorter sides is 12
cm, then find the distance between the longer sides.

Options :

1. % 9.6cm

7« 9cm
3 # 8.8cm

4 % Scm

Question Number : 111 Question Id : 7532295776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U FHIOR Tq4ol DT URHATY 28 om B | AT STD! HOTTHT BT U1 3 : 4 8 AR BICT Yoll3fl & S HI G 12 em B,
a1 el YSiaft & o9 BI g2 J1d Difon |

Options :
1. % 9.6cm

7« 9cm
3. % 8.8cm

4. % 8cm

Question Number : 112 Question Id : 7532295777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" " . S . i
Find the surface area of the largest sphere that can be carved out of a cuboid of sides 42 cm, 40 cm and 35 cm (in cm=).

(Use | B ET—E)

Options :
1. % 3600

5 % 3700
4 & 3850

Question Number : 112 Question Id : 7532295777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

42 om. 40 cm 3R 35 om YOIl G GATH Y B [Hab1el off ab aTd] SAUHaH HBR & T 1YY &b
(cm? H) JTd PIfoTT|

(Use = i—z)

Options :
1. ®% 3600

» % 3700

=

3 % 375

4 & 3850

Question Number : 113 Question Id : 7532295778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A solid cone, a solid hemisphere and a solid cylinder stand on equal bases and have equal heights. Find the ratio of their

total surface areas.
Options :

1 % \ﬁ:3:4
, % (V2+2):3:4
3o (V2+1):3:4

4 % (\f?—k 1):4:5



Question Number : 113 Question Id : 7532295778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush 319 AP, U 319 NI 3R Ueh 319 90 THM AYRT R M € 2R 3961 SHargdl 4l 0 €1 396 Ui
USTY &A% al B SIUTd Jid S|

Options :

| % V2:3:4

, % (V2+2):3:4
1o (V2+1):3:4

4 % (\E—F 1):4:5

Question Number : 114 Question Id : 7532295779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 12 m high tent in the shape of a cylinder surmounted by a cone is to be stitched. If base radius and height of the

cylindrical portion are 12 m and 7 m, respectively, then find the cloth (in m) required for stitching the tent. keeping 5%

extra cloth for wastage etc.

(Use = %)

Options :
1 ® 1069



5« 1069.2
3 % 1070

4 % 1075

Question Number : 114 Question Id : 7532295779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 90 & HIR RGP $1 AFH a1 U 12 m Hd 09 [AHR S 5T ¢ | Fie SaIBR HFT S TR
s 3R $aTs HHRL: 12 m 3R 7 m 8, Al gaicl 31 o [T 596 SAfaRad HUST G gU g &1 & AT fasa
HUS (m H) P HTIH AT BRI

(Use = 1—2)

Options :
1 ® 1069

5« 1069.2

3 % 1070

4 % 1075

Question Number : 115 Question Id : 7532295780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A mumber of students and the marks scored by them out of 50 are shown in the given table.

Marks 0-10 10-20 20-30 30-40 40-50
No. of 0 6 12 18 4
students

How many students scored less than 30 marks?

Options :
1. % 6

) ® 12
3.« 18

4. % 36

Question Number : 115 Question Id : 7532295780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 TTS, dIfCishT H S BT 3R 39 §RI 50 H I U1K 3foh( &bl SR T B |

3 0-10 10-20 20-30 30-40 40-50
EIEIE 0 6 12 18 4
parEs||

fh= B 30 T HH 3P U [T &2

Options :




) ® 12

3.« 18

Question Number : 116 Question Id : 7532295781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of students from 4 institutes who like different sports is shown in the table.

Institutes | Badminton| Hockey | Cricket | Volley
ball
A 35 60 80 35
B 25 56 72 31
& 46 62 85 42
D 44 62 83 42

The total number of students from all the institutes who like Cricket is what percentage more than the total number of
students who like Hockey?

Options :
2
32 %
% 3



. 323%
- 331g
® 4

3329
o 3

Question Number : 116 Question Id : 7532295781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 TR & fafie Wl &f Udie 34 9 SE1 &1 8T drfeid] | g=115 7S o

TRM [gefiicd [gldl  |[fdhde | awiiEid
A 35 60 80 33
B 25 56 12 31
C 46 62 85 42
D 44 62 83 42

Y TRIMT o febebe UHE B+ d1el S Bl Ho TSN, Tlehl UG B dTel BT $1 ol Gl Y foba wfa=a
i g2

Options :

32-%

1. #

3229
W 5



3319
® 4

3319
o 3

Question Number : 117 Question Id : 7532295782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows the income (in ) together with their sources, received by 5 emplovees of a company in the last

month of the vear.

A B C D B
Salary 32,000 28,000 | 29,500 | 35.000 | 31,000
Bonus 3,000 6,800 7,200 8,500 8.500
Arrears 6.000 5,520 5,880 7,450 6.600
Overtime 5,050 4,000 4,590 7,000 7,100

Which of the employees have their salaries more than 4 times their income from bonus?
Options :

1. u A.. B-.. D

, % AB,C

; ¢ B.C,D

4 ® B,C.E



Question Number : 117 Question Id : 7532295782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl 115 dIfeidh] H U N o 2ifdA ASH H Uh &+ & Ui HHANA! GRI UG 21 (2 H) B 36 Hidi & 91y gRIEr
T g

A B C D E
dad 32000 Ppgooo  posoo  [s.000  [31.000
CIGE 8,000 6,800  [7.200  [8.500  [8.500
IH™ [6,000 5,520 [5.880  [7.450  [6.600
avegd [5.050 4000 l.soo fooo  |7.100

fas1 Al & daH, 3¢ 9 9 WK 21 & 4 1 Y 24fde g2
Options :
| % AB.D

, % AB,C
; ¢ B.C,D

4 ® B,C.E

Question Number : 118 Question Id : 7532295783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following bar graph shows the number of 3 types of woollen garments sold at shops A, B, C and D over 2 months.

=
=
[

.3 @ Cardigans
m Shaw s

300 - EPullovers

pOSCECons SRR 600

u... Ll !

What is the ratio of the number of cardigans sold to the number of pullovers sold at all the 4 shops taken together?

Options :

1. ®% 185:104
7 o 182 :105
3. % 185:103
4 % 184 :105

Question Number : 118 Question Id : 7532295783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFHifhd IR U1 2 HAEHI & SR GHMI A, B, € 3R D gRI 99 U 3 UHR & il HUS| &) A Bl Gl g |

580

A
i1

~EIETIE

m 2Tl
_RCEIGRS

T,
)
bt
b
bt
bed
—
b
poeiene]
it
b
b
b
heed
bmod
b
b
b
bt
beiad
brencd
board
o]
bard
o]
gt
by
e
bt
hacd
homod
bed
biend
bl
brimnd
b}
e
b
b
bt

RS

Tl 4 GHHT GRT B [HATRR S U HIET o) T 3R 3 GRT & U GAHIER P TReAT 1 U Tl
82

Options :

1. % 185:104
7 « 182 :105
3 % 185:103
4 % 184:105

Question Number : 119 Question Id : 7532295784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The qualification-wise number of persons registered in an employment exchange over 3 years has been presented in the

bar graph.

1200 - E %

E =
1000 4 =
s00 { ¢
= @Under graduate
=1 BGraduate
400 + mPost graduate

2017 2018 2019 2020

The total number of registered persons in 2019 is what per cent more than the total number of registered persons in
201772

Options :

1. % 18.5%

2 % 18.92%
3 o 20%
4 % 21%

Question Number : 119 Question Id : 7532295784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 991 & SR U Yario Sy H doiidhd il &1 Jradl-aR el &l Fgifed SR 9% H eIa 1 |

1200 +

1 970
1050
4 1068

1000

300
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2019 H Uslighd il $I S TAL, 2017 H Uolidd Aldadl o $ol S Y fova- UidRId 244 g2

Options :
1. % 18.5%

7 % 18.92%
3 o 20%
4 % 21%

Question Number : 120 Question Id : 7532295785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given bar graph shows the expenditure and income (in lakh ) by a company over 4 years.

14000 | z E ,E.

12000 | = - -

10000 {

8000

BE xp enditure

6000 - Blncome
4000 -

2000 -

0

2015-16 2016-17 2017-18 2018-19

In which year(s) is the increase percentage in the profit in comparison to its previous year, the maximum?
Options :
1. % 2016-17 and 2017-18

5« 2016-17
3 % 2018-19

4 % 2017-18 and 2018-19

Question Number : 120 Question Id : 7532295785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General English1

Group Number : 7

Group Id : 753229301

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 753229301

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229362

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532295786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

A severe famine brought misery to Russia.
Options :

1. # wide



2. ¥ great
3. % large

4. % vast

Question Number : 121 Question Id : 7532295786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

A severe famine brought misery to Russia.
Options :
1. # wide
2. ¥ great
3. # large

4. % vast

Question Number : 122 Question Id : 7532295787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

I would like to meet the architect designed this building.
Options :

1. ® that

2. % which

3. % who

4. % whom

Question Number : 122 Question Id : 7532295787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.



I would like to meet the architect designed this building.
Options :

1. # that

2. # which

3. % who

4, % whom

Question Number : 123 Question Id : 7532295788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

The people trees thoughtlessly for years.
Options :

1. # fall

2. % fell

3. # were falling

4. ¥ felled

Question Number : 123 Question Id : 7532295788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

The people trees thoughtlessly for years.

Options :

1. # fall

2. % fell

3. % were falling
4. ¥ felled

Question Number : 124 Question Id : 7532295789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Are you conversant the rules of the game?
Options :

1. # from

2. % of

3. ¥ with

4. % for

Question Number : 124 Question Id : 7532295789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Are you conversant the rules of the game?
Options :

1. % from

2. % of

3. ¥ with

4. % for

Question Number : 125 Question Id : 7532295790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Mr Ghosh to meet us today evening.
Options :

1. # comes

2. % is coming

3. % has come

4. % have come



Question Number : 125 Question Id : 7532295790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Mr Ghosh to meet us today evening.
Options :

1. # comes

2. ¥ is coming

3. % has come

4. % have come

Question Number : 126 Question Id : 7532295791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

After a thorough revision, I all the answers.
Options :

1. ¥ will know

2. % will be knowing

3. #* will have known

4. % will have been knowing

Question Number : 126 Question Id : 7532295791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

After a thorough revision, | all the answers.

Options :
1. ¥ will know



2. # will be knowing
3. ® will have known

4. # will have been knowing

Question Number : 127 Question Id : 7532295792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

gold ring that I bought last week was very expensive.
Options :
1. % A
2. % An
3. % The
4. % No article required

Question Number : 127 Question Id : 7532295792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

gold ring that I bought last week was very expensive.
Options :
1. % A
2. % An
3. ¥ The

4. # No article required

Question Number : 128 Question Id : 7532295793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.



We have received huge order for Christmas hampers.
Options :

1.¥ a

2. % an

3. # the

4. ® no article required

Question Number : 128 Question Id : 7532295793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

We have received huge order for Christmas hampers.
Options :

1.¥ a

2. % an

3. % the

4. # no article required

Question Number : 129 Question Id : 7532295794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active voice of the given sentence.

The main gate is shut at 11 pm by the guard.
Options :

1. # The guard is shutting the main gate at 11 pm.
2. ¥ The guard shuts the main gate at 11 pm.

3. % The guard shut the main gate at 11 pm.

4. # The guard will shut the main gate at 11 pm.

Question Number : 129 Question Id : 7532295794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the correct active voice of the given sentence.

The main gate is shut at 11 pm by the guard.
Options :

1. #® The guard is shutting the main gate at 11 pm.
2. ¥ The guard shuts the main gate at 11 pm.

3. # The guard shut the main gate at 11 pm.

4. ® The guard will shut the main gate at 11 pm.

Question Number : 130 Question Id : 7532295795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive voice of the given sentence

They were pulling the heavy cart with great difficulty.
Options :

1. # The heavy cart is being pulled with great difficulty.
2. ¥ The heavy cart was being pulled with great difficulty.
3. % The heavy cart had been pulled with great difficulty.
4. # The heavy cart was pulled with great difficulty.

Question Number : 130 Question Id : 7532295795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive voice of the given sentence

They were pulling the heavy cart with great difficulty.
Options :

1. # The heavy cart is being pulled with great difficulty.
2. ¥ The heavy cart was being pulled with great difficulty.
3. # The heavy cart had been pulled with great difficulty.
4. % The heavy cart was pulled with great difficulty.



Question Number : 131 Question Id : 7532295796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The meeting has been till next week.
Options :

1. * putup

2. % put out

3. % putin

4. ¥ put off

Question Number : 131 Question Id : 7532295796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The meeting has been till next week.
Options :

1. # putup

2. * put out

3. % putin

4. ¥ put off

Question Number : 132 Question Id : 7532295797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The scientists have achieved a major in the study of genes.

Options :

1. # break down



2. # break away
3. % break through
4. # break up

Question Number : 132 Question Id : 7532295797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The scientists have achieved a major in the study of genes.

Options :

1. # break down
2. % break away
3. ¥ break through
4. % break up

Question Number : 133 Question Id : 7532295798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. ¥ Sir, the day’s work is over.

2. % Sir the day’s work is over!

3. % Sir, the days work is over?

4. # Sir the days’ work is over.

Question Number : 133 Question Id : 7532295798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. ¥ Sir, the day’s work is over.



2. # Sir the day’s work is over!
3. # Sir, the days work is over?

4. % Sir the days’ work is over.

Question Number : 134 Question Id : 7532295799 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. #® She’s happy with our decision isn’t she?
2. ¥ She’s happy with our decision, isn’t she?
3. # She’s happy with our decision, isn’t she.
4. % She’s happy, with our decision, isn’t she!

Question Number : 134 Question Id : 7532295799 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. # She’s happy with our decision isn’t she?
2. ¥ She’s happy with our decision, isn’t she?
3. ® She’s happy with our decision, isn’t she.
4. ® She’s happy, with our decision, isn’t she!

Question Number : 135 Question Id : 7532295800 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct direct form of the given sentence.

Amita asked her mother if the matter was really urgent.
Options :

1. ¥ Amita said to her mother, “Was the matter really urgent?”

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



2. ¥ Amita said to her mother, “Is the matter really urgent?”
3. % Amita said to her mother, “The matter is really urgent?”

4. % Amita asked to her mother, “Is the matter really urgent?”

Question Number : 135 Question Id : 7532295800 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct direct form of the given sentence.

Amita asked her mother if the matter was really urgent.
Options :

1. # Amita said to her mother, “Was the matter really urgent?”
2. ¥ Amita said to her mother, “Is the matter really urgent?”

3. % Amita said to her mother, “The matter is really urgent?”

4. % Amita asked to her mother, “Is the matter really urgent?”

Question Number : 136 Question Id : 7532295801 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct indirect form of the given sentence.

The teacher says, “A lost moment is lost forever.”

Options :

1. ® The teacher will say that a lost moment is lost forever.
2. % The teacher said that a lost moment was lost forever.
3. ® The teacher said that a lost moment is lost forever.

4. ¥ The teacher says that a lost moment is lost forever.

Question Number : 136 Question Id : 7532295801 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct indirect form of the given sentence.

: MCQ Option Shuffling

: MCQ Option Shuffling

: MCQ Option Shuffling

: Yes Is Question Mandatory : No Option

: Yes Is Question Mandatory : No Option

: Yes Is Question Mandatory : No Option



The teacher says, “A lost moment is lost forever.”

Options :

1. % The teacher will say that a lost moment is lost forever.
2. # The teacher said that a lost moment was lost forever.
3. % The teacher said that a lost moment is lost forever.

4. ¥ The teacher says that a lost moment is lost forever.

Question Number : 137 Question Id : 7532295802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a positive connotation.

She at the stars for hours.
Options :

1. # spied

2. # stared

3. % gazed

4. % glared

Question Number : 137 Question Id : 7532295802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a positive connotation.

She at the stars for hours.
Options :

1. # spied

2. # stared

3. ¥ gazed

4. % glared

Question Number : 138 Question Id : 7532295803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a negative connotation.

Anuj’s cupboard is with books.
Options :

1. # filled

2. % crammed

3. % stacked

4. # loaded

Question Number : 138 Question Id : 7532295803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a negative connotation.

Anuj’s cupboard is with books.
Options :

1. % filled

2. ¥ crammed

3. % stacked

4. % loaded

Question Number : 139 Question Id : 7532295804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

A was sounded after the bomb threat.
Options :

1. ¥ high alert

2. % strong alert

3. * big alert

4. % huge alert



Question Number : 139 Question Id : 7532295804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

A was sounded after the bomb threat.
Options :

1. ¥ high alert

2. # strong alert

3. % big alert

4. ® huge alert

Question Number : 140 Question Id : 7532295805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

She my invitation and promised to come.
Options :

1. # generally accepted

2. % fully accepted

3. ¥ gladly accepted

4. % widely accepted

Question Number : 140 Question Id : 7532295805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

She my invitation and promised to come.
Options :
1. # generally accepted



2. # fully accepted
3. % gladly accepted
4. * widely accepted

General English2
Group Number : 8
Group Id : 753229302
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English2
Section Id : 753229302
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229363
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7532295806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The against the accused failed to get him convicted.
Options :

1. # bottomless allegations

2. ¥ baseless allegations

3. # blissful allegations

4. # bountiful allegations

Question Number : 141 Question Id : 7532295806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The against the accused failed to get him convicted.
Options :

1. # bottomless allegations

2. ¥ baseless allegations

3. % blissful allegations

4. # bountiful allegations

Question Number : 142 Question Id : 7532295807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Penetrate
Options :

1. # Persist
2. # Perceive
3. % Persuade

4. % Permeate



Question Number : 142 Question Id : 7532295807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Penetrate
Options :

1. #* Persist
2. % Perceive
3. % Persuade

4. ¥ Permeate

Question Number : 143 Question Id : 7532295808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Bleak
Options :

1. * Blank
2. * Barren
3. ¥ Bright

4. # Bare

Question Number : 143 Question Id : 7532295808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Bleak
Options :
1. # Blank



2. * Barren
3. ¥ Bright
4. % Bare

Question Number : 144 Question Id : 7532295809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Refute
Options :

1. # Oppose
2. ¥ Endorse
3. ¥ Expose
4. % Dispose

Question Number : 144 Question Id : 7532295809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Refute
Options :

1. # Oppose
2. % Endorse
3. # Expose
4. % Dispose

Question Number : 145 Question Id : 7532295810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



At one’s wit’s end

Options :

1. ¥ to be totally confused

2. % to bear someone’s anger
3. # to find fault with someone

4. ® to complete a task in time

Question Number : 145 Question Id : 7532295810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

At one’s wit’s end

Options :

1. ¥ to be totally confused

2. % to bear someone’s anger
3. # to find fault with someone

4. ® to complete a task in time

Question Number : 146 Question Id : 7532295811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

to kill two birds with one stone

Options :

1. # to be miserly in spending resources
2. # to be perfectly focused on the target
3. % to achieve two aims in a single action

4. ® to invest time in two hobbies

Question Number : 146 Question Id : 7532295811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

to kill two birds with one stone

Options :

1. # to be miserly in spending resources
2. % to be perfectly focused on the target
3. ¥ to achieve two aims in a single action

4. % to invest time in two hobbies

Question Number : 147 Question Id : 7532295812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

to grease the palm
Options :

1. # to betray someone
2. % to flatter someone
3. # to support someone

4. ¥ to bribe someone

Question Number : 147 Question Id : 7532295812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

to grease the palm
Options :

1. # to betray someone
2. % to flatter someone
3. # to support someone

4. ¥ to bribe someone



Question Number : 148 Question Id
Orientation : Vertical

: 7532295813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the misspelt word.
Options :

1. ¥ afterwords

2. # forever

3. % already

4. % wherever

Question Number : 148 Question Id
Orientation : Vertical

: 7532295813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the misspelt word.
Options :

1. ¥ afterwords

2. # forever

3. # already

4. % wherever

Question Number : 149 Question Id
Orientation : Vertical

: 7532295814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the misspelt word.
Options :

1. # acquisition

2. ¥ aquaintance

3. % accustomed

4. % accommodate

Question Number : 149 Question Id

: 7532295814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the misspelt word.

Options :

1. # acquisition

2. ¥ aquaintance

3. % accustomed

4. % accommodate

Question Number : 150 Question Id : 7532295815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # disgise

2. # disguice

3. % disguise

4. # disguize

Question Number : 150 Question Id : 7532295815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # disgise

2. % disguice

3. % disguise

4. ® disguize

Question Number : 151 Question Id : 7532295816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Arrange the words in the correct order to make a meaningful sentence.

This youth will promote among campaign the creative writing
Options :

1. # This will promote youth among the creative campaign writing.
2. # This promote among youth will campaign the creative writing.
3. ¥ This campaign will promote creative writing among the youth.

4. # This creative writing youth will promote among the campaign.

Question Number : 151 Question Id : 7532295816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in the correct order to make a meaningful sentence.

This youth will promote among campaign the creative writing
Options :

1. # This will promote youth among the creative campaign writing.
2. # This promote among youth will campaign the creative writing.
3. ¥ This campaign will promote creative writing among the youth.

4. % This creative writing youth will promote among the campaign.

Question Number : 152 Question Id : 7532295817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the statements in the correct order to make a meaningful paragraph.

A. The place was dead quiet that afternoon.

B. I found myself running helter-skelter with a thousand others.

C. Suddenly a roar went up from the village, “They come, they come!”
D. Kuma was a big village in those days.

Options :

1. ¥ BDAC
2. % DCBA
3. # BACD



4. ¥ DACB

Question Number : 152 Question Id : 7532295817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the statements in the correct order to make a meaningful paragraph.

A. The place was dead quiet that afternoon.

B. I found myself running helter-skelter with a thousand others.

C. Suddenly a roar went up from the village, “They come, they come!”
D. Kuma was a big village in those days.

Options :

1. ¥ BDAC
2. % DCBA
3. % BACD
4. ¥ DACB

Question Number : 153 Question Id : 7532295818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

We must the wonderful gifts of nature.
Options :

1. # disturb

2. % stress

3. % improve

4. ¥ appreciate

Question Number : 153 Question Id : 7532295818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.



We must the wonderful gifts of nature.
Options :

1. % disturb

2. ® stress

3. # improve

4. ¥ appreciate

Question Number : 154 Question Id : 7532295819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

All T can from your words is that you are not willing to help me.
Options :

1. # reduce

2. ¥ infer

3. ¥ trust

4. % expect

Question Number : 154 Question Id : 7532295819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

All'T can from your words is that you are not willing to help me.
Options :

1. #* reduce

2. ¥ infer

3. * trust

4. % expect

Question Number : 155 Question Id : 7532295820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

People with gout find it hard to move about.
Options :

1. # enclosed

2. ¥ afflicted

3. # gsuffering

4. % confirmed

Question Number : 155 Question Id : 7532295820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

People with gout find it hard to move about.
Options :

1. % enclosed

2. ¥ afflicted

3. % suffering

4. % confirmed

Sub-Section Number : 2
Sub-Section Id : 753229364
Question Shuffling Allowed : Yes

Question Id : 7532295821 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the given passage and answer the questions that follow.

As dusk falls the neon lights of the shops come alive but the lights have no effect on the face of Mahadeo Yadav who is seated on the footrest of
his rickshaw that is parked by the road, feeling very sad. He is sitting on his feet, hugging his knees to keep himself warm in the biting cold, so
weakened and lifeless as if he had been dead for days without anyone noticing.

Who would after all notice a rickshaw puller, to check whether he is breathing or not ? Yet when the same rickshaw puller goes about his work



pulling his rickshaw like a horse, he becomes the most noticed man in Calcutta. He makes a great subject for photographers, writers and film-
makers. He is the symbol of poor Calcutta. Many a famous actor has pulled the rickshaw in films set in the city.

Calcutta is said to have about 6000 rickshaw pullers running on its roads, mostly in its old neighbourhoods. They have something in common
apart from their poverty. All of them come from the country side. All of them wear the lungi to work, perhaps for better movement. Almost all of
them are elderly; I am yet to see a young man hand pulling a rickshaw. It can be a sad sight to watch a man almost as old as your father struggling
his way through the roads dressed only in a vest and a lungi and often barefoot.

Mahadeo Yadav, the rickshaw puller is in his seventies and has been pulling the same rickshaw for fifty years. For him, fifty years, half a century
is not an achievement, but merely the time that has passed ever since he came to Calcutta to earn a living.

He lives all alone in Calcutta, in a room in a nearby lane, paying a monthly rent of fifty rupees. He is out with his rickshaw between three in the
afternoon and ten at night, sometimes earning sixty to eighty rupees a day and sometimes nothing. Every month without fail he sends Rs 300 to
his wife back home, and once every year visits her. “I will pull the rickshaw as long as I can,” he says. “This is my only source of income. These
days I tire easily. Sometimes my feet hurt and sometimes my back. But do I have a choice ?”

He answers all my questions without looking at me even once, but continued to stare ahead blankly in despair his arms folded around his knees. I
take a good look at his rickshaw : the two — the rickshaw and the rickshaw puller — make quite a pair.

Sub questions

Question Number : 156 Question Id : 7532295822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahadeo Yadav earns his livelihood by
Options :

1. # riding a horse

2. # acting in films

3. % writing books

4. ¥ pulling a rickshaw

Question Number : 157 Question Id : 7532295823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
People notice a rickshaw puller when he is
Options :

1. % feeling cold and miserable

2. # struggling for survival

3. ¥ the subject of photographers

4. # dressed in a vest and lungi



Question Number : 158 Question Id : 7532295824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the probable age of Mahadeo Yadav?
Options :

1. # fifty plus

2. # gixty plus

3. ¥ seventy plus

4. # eighty plus

Question Number : 159 Question Id : 7532295825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahadeo Yadav was hugging his knees because
Options :

1. # they were hurting him

2. ¥ he was feeling cold

3. % his lungi was torn

4. # he was feeling sad

Question Number : 160 Question Id : 7532295826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a common factor between all rickshaw pullers?
Options :

1. # extreme financial need

2. # advanced age

3. % staying away from family

4. # rural background

Question Id : 7532295821 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (156 to 160)
Read the given passage and answer the questions that follow.

As dusk falls the neon lights of the shops come alive but the lights have no effect on the face of Mahadeo Yadav who is seated on the footrest of
his rickshaw that is parked by the road, feeling very sad. He is sitting on his feet, hugging his knees to keep himself warm in the biting cold, so
weakened and lifeless as if he had been dead for days without anyone noticing.

Who would after all notice a rickshaw puller, to check whether he is breathing or not ? Yet when the same rickshaw puller goes about his work
pulling his rickshaw like a horse, he becomes the most noticed man in Calcutta. He makes a great subject for photographers, writers and film-
makers. He is the symbol of poor Calcutta. Many a famous actor has pulled the rickshaw in films set in the city.

Calcutta is said to have about 6000 rickshaw pullers running on its roads, mostly in its old neighbourhoods. They have something in common
apart from their poverty. All of them come from the country side. All of them wear the lungi to work, perhaps for better movement. Almost all of
them are elderly; I am yet to see a young man hand pulling a rickshaw. It can be a sad sight to watch a man almost as old as your father struggling
his way through the roads dressed only in a vest and a lungi and often barefoot.

Mahadeo Yadav, the rickshaw puller is in his seventies and has been pulling the same rickshaw for fifty years. For him, fifty years, half a century
is not an achievement, but merely the time that has passed ever since he came to Calcutta to earn a living.

He lives all alone in Calcutta, in a room in a nearby lane, paying a monthly rent of fifty rupees. He is out with his rickshaw between three in the
afternoon and ten at night, sometimes earning sixty to eighty rupees a day and sometimes nothing. Every month without fail he sends Rs 300 to
his wife back home, and once every year visits her. “I will pull the rickshaw as long as I can,” he says. “This is my only source of income. These
days I tire easily. Sometimes my feet hurt and sometimes my back. But do I have a choice ?”

He answers all my questions without looking at me even once, but continued to stare ahead blankly in despair his arms folded around his knees. I
take a good look at his rickshaw : the two — the rickshaw and the rickshaw puller — make quite a pair.

Sub questions

Question Number : 156 Question Id : 7532295822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahadeo Yadav earns his livelihood by
Options :

1. * riding a horse

2. * acting in films

3. % writing books

4. ¥ pulling a rickshaw

Question Number : 157 Question Id : 7532295823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
People notice a rickshaw puller when he is



Options :

1. % feeling cold and miserable
2. # struggling for survival

3. % the subject of photographers

4. # dressed in a vest and lungi

Question Number : 158 Question Id : 7532295824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the probable age of Mahadeo Yadav?
Options :

1. % fifty plus

2. # sixty plus

3. ¥ seventy plus

4. # eighty plus

Question Number : 159 Question Id : 7532295825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahadeo Yadav was hugging his knees because
Options :

1. % they were hurting him

2. ¥ he was feeling cold

3. # his lungi was torn

4. # he was feeling sad

Question Number : 160 Question Id : 7532295826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a common factor between all rickshaw pullers?
Options :

1. # extreme financial need

2. # advanced age



3. ¥ staying away from family

4. # rural background
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Question Number : 161 Question Id : 7532295827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



iep {58 UBR BT GHAIN YD 3 62
Options :

1. ® Gyl

2. % fauri®

3. ¢ fRIYCRI®

4. % GRUTHERIS

Question Number : 161 Question Id : 7532295827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Siep” {5 UPR BT TSN YD 30T &7
Options :

1. % HUNH

2. % fqyri

3. ¢ fRIYCRIS

4. % URUMHERIS

Question Number : 162 Question Id : 7532295828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 R o) firaTeal <t oo & Uged “d S 1 SRS 82
Options :

1. ¢ gueH

2. % 3UlgIH

3. % oY

4. % g9y

Question Number : 162 Question Id : 7532295828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 3 et &t fireTgal 1 a1 & e ‘@ B 9 BRS 72




Options :
1. ¢ guaH
2. % 3{UiqiH
3. % Y
4. % gay

Question Number : 163 Question Id : 7532295829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e {59 UeHR &1 uRkamEaras fosar faRivo g2
Options :

1. % TAdEIYD

2. ¢ JHYBAEIYD

3. % gYiftrarad

4. % JITdIdd

Question Number : 163 Question Id : 7532295829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e g geR o1 ukHTvErEs forar fagiv 32
Options :

1. % gAqEYD

2. ¢ HUBAEIUD

3. % gyifIars

4. % JI-TdIdd

Question Number : 164 Question Id : 7532295830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRY’ fHg YpR 1 faxwor g2

Options :




1. % =AM
2. % gRATEYS
3. % gra-IHD
4. ¢ TUIAEISH

Question Number : 164 Question Id : 7532295830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR [ THR H1 fa=wor g2
Options :

1. ® JQAATEISh

2. % URHAUEYD

3. % QEAHS

4. « TUIATd D

Question Number : 165 Question Id : 7532295831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THT (9 THR S I 82

Options :

1. % HfeRiarad

2. ¢ Wfdardd

3. % Y[ddHdd

4. % gdddn

Question Number : 165 Question Id : 7532295831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THH [l THR & I 62
Options :

1. % Afeqardd




2. ¢ Sifaaras
3. % Y[qdrDh
4, % THATTD

Question Number : 166 Question Id : 7532295832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufifld o ‘Uydrae’ ga-TH S 9182

Options :
1. % DIy
2. % PY
3. % 9
4. & [

Question Number : 166 Question Id : 7532295832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad & uyaras gam S A1 g
Options :

1. % PIg

2. % Y

3.% 9

4. ¢ ||

Question Number : 167 Question Id : 7532295833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘SIIIP A §IBR HTaTeH fhar ) arad § guHe fohd UhR &1 fohar g2

Options :

1. ¢ QdpIadh
2. % HgH




3. % fgpti®
4. % YD

Question Number : 167 Question Id : 7532295833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A gaHR SHfaTeH fhar ) A & guHR f6d UHR &1 fhar g2
Options :

1. ¢ QApITeID

2. % g

3. % fgpH®

4. % qHASIYD

Question Number : 168 Question Id : 7532295834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SERMCIR RS RACE TS

Options :

.= 94+39d

2. % J4+d9Y

3. +TY

4. * g +dY

Question Number : 168 Question Id : 7532295834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T &1 Ig AfY-fawe B-

Options :

1. * 9q4+<d

2.5 94+dY

3. +dY



4. = JH+TY

Question Number : 169 Question Id : 7532295835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qra T i W 2

Options :

|. % YU TR Y

2. ¢ 3IfQ TR iy

3. % gfg WR Iy

4. % T[0T TR TIY

Question Number : 169 Question Id : 7532295835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T HIH o G 72

Options :

1. % UL TR Y

2. ¢ 3T TR HfY

3. % gig WR I

4. % T[0T TR GiY

Question Number : 170 Question Id : 7532295836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I[SERER’ BT JHNY-faUg BI-

Options :

1. ¢ ST BT RAR
2. % ST DI GREAR
3. % IO Y GRER
4. % o H RAR




Question Number : 170 Question Id : 7532295836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I[SERER’ 1 JHN-faUg -

Options :

1. ¢ ST T RAR
2. % O I GRAR
3. % IO Y GRER
4, % M H RAR

Question Number : 171 Question Id : 7532295837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGS H B I YA 72

Options :

1. % §g

2. % fgT]

3. % dey

4. 3l HId

Question Number : 171 Question Id : 7532295837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A H B T AN §2

Options :

1. % gg

2. % g1

3. % dey

4.« 3fogdl HId



Question Number : 172 Question Id : 7532295838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B! - IG P YR e A, ST ST Bt Yo TR Ufdd T DI AT SABR g2
Options :

1. % 3UHl

2. % T

3. ¥ JHD

4. % qeplfcki

Question Number : 172 Question Id : 7532295838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B! - G B TR &1 G, ST STl B oo TRp ufad & S 1 SedR g2
Options :

1. % 3UHT

2. % Yy

3. ¥ JHD

4. % qebiford

Question Number : 173 Question Id : 7532295839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafea § @ @ 91 fawed wus &1 Ve T8 72
Options :

1. ¢ 34T

2. %

3. % T

4, % TRORT

Question Number : 173 Question Id : 7532295839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefad o ¥ o w1 fawed wus &1 U T8t /2
Options :

1. ¢ 3T

2. % AT

3. % 9

4. % TRURA

Question Number : 174 Question Id : 7532295840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g% BT qaTgaTe T B-

Options :

1. % HYd[

2. % HIYUd

3. % R

4. % dd

Question Number : 174 Question Id : 7532295840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g5 T UgTar TEl B-

Options :

1. # HYdl

2. % HIUd

3. ® R

4. % dd

Question Number : 175 Question Id : 7532295841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3T BT 37 7T Bl
Options :

1. % gt

Question Number : 175 Question Id : 7532295841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATl BT 31 T gIell-

Options :

1. % gt

2. % Gferd

3. ¥ YRR

4. % Tie

Question Number : 176 Question Id : 7532295842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T - T g T BT 51 3 &-
Options :

1. = gHg -9y

2. Y —HHg

3. % Y -3

4. % GG - gHg

Question Number : 176 Question Id : 7532295842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T — T Xeq G P Tl 3 B-
Options :

1. % g -1y

2. ¥ Y -5

3. % Y- 3

4. % GG - gHg

Question Number : 177 Question Id : 7532295843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sleg] - dree’ 31 & oY THYd ek 8-
Options :

1. ¢ dgldh — dSiT

2. % dSNT-dgldh

3. % dgo —dgT

4. % dgiT-dg®

Question Number : 177 Question Id : 7532295843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sed] - drere 31 & forT gH3d Teq B-
Options :

1. ¥ dgld — dsiT

2. % dSNT-dgldh

3. % dgo —deT

4. % dgiT-dgo

Question Number : 178 Question Id : 7532295844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tyfer &1 gar T B-



Options :
1. % Tg
2. % Yd
3. ¢ g
4, % YYId

Question Number : 178 Question Id : 7532295844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tyfer &1 g 2eg 3-

Options :

1. # 1Y

2. % Yd

3. ¢ g

4. % YHId

Question Number : 179 Question Id : 7532295845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TUgep! i 81T 3 & for Tt geraRt i | g2
Options :

1. % URR DI THR GHI

2. % TSI @A

3. % TS! IS

4. ¢ GISI Gl

Question Number : 179 Question Id : 7532295845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tgep! o BT 31 & e el GeTaRT S a1 )Y

Options :




1. % TR &I AHR 8T
2. % UITS! TG

3. % TS] IS

4. ¥ TSI Gl

Question Number : 180 Question Id : 7532295846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T I I AP 1 e 3 B
Options :

1. % R DI Il 3D gIdll g

2. ¥ R B! TNl B A B |

3. % R P! A 3T TS B B

4. % BIad X I YR A1 g

Question Number : 180 Question Id : 7532295846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR P ¢IeT Jela Aepiiad BT Tet 31 -
Options :

1. % WP 3BT gl g |

2. ¢ R BT T 3] A B

3. % R B I 3 gl gIel B

4. % BIAH X I YaR A1 G|
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532295847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AR F Uten SR 819 aTal 8 1 aTed & far of<r & g+t Bt SrfS 37
Options :

1. ¢ SITH YHAR

2. % J e

3. % JRYBH

4. % gt gl

Question Number : 181 Question Id : 7532295847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST AR ¥ TRI&T 3R I a1l § 1° a1 o fovd 31 H a1 &1 3RIf< 82
Options :

1. ¢ SITH YHAR

2. % YURAE

3. % JRUTH

4. % gt gl

Question Number : 182 Question Id : 7532295848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o 9 HH 91 Weg aod 82
Options :

1. % ¥

2. % fadd

3. % BIdl

4. ¢ B

Question Number : 182 Question Id : 7532295848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefead & ¥ o 97 g T@H 82
Options :

1. % &g

2. # fe5etep

3. % SIdl

4. % B

Question Number : 183 Question Id : 7532295849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faferiad 7 @ &9 I 2eg dga 82
Options :

1. ¥ SIS

2. % Sddq

3. ® Sf°r

4. % G

Question Number : 183 Question Id : 7532295849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiad § @ o9 I Xeg drgd 82
Options :

1. ¥ SIS

2. % Sdd-d

3. % SE

4. % i

Question Number : 184 Question Id : 7532295850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG B, 3iieht MU TR BT PG -
Options :

1. % GH Hids

2.« YU HidH

3. % gdoqye Hfdw

4. % FiGwy Yd

Question Number : 184 Question Id : 7532295850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GHT B, 3iTeft MU T HTHIA | -



Options :

1. % g Hidw

2. ¢ GYIT Hfd

3. % gdoqHe Hfdw
4. % Higw Yd

Question Number : 185 Question Id : 7532295851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I AT G | TR T BT 6-
Options :

1. % G Hids

2. % JHIG HidH

3. % gdogyg Hfdw

4. iy yd

Question Number : 185 Question Id : 7532295851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G T ST | TS BT bTa &-
Options :

1. % GH Hids

2. % FyTod Hid™

3. % gdoqyg Hidw

4. ¢ GieTy Yd

Question Number : 186 Question Id : 7532295852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<TE} S8l g 1° AT BT P 6-
Options :




1. % gof gdq™

2. % dTPpIfeIh add
3. Y a9
4. % Ty gdam

Question Number : 186 Question Id : 7532295852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<1} S8t g I” 9T BT HTd ©-
Options :

1. % guf A

2. ® TIPS aad

3. ¥ ARG gaAH

4. % e aadH

Question Number : 187 Question Id : 7532295853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 & a1 ae iy area g2
Options :

1. ¢ Sl ATg e g1 &, fae S 31 gIc 5
2. % TgH! Hfad B faer gl gl

3. % e g R A gt &1

4. % gl gId € gafe faom gidt g

Question Number : 187 Question Id : 7532295853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o= a1 919 iy are 89

Options :

1. ¥ S WTe g &, fawra It &1 gl &




2. % ggdl Afe ot fasg e 21
3. % gl g R fas g 81
4. % TG BId § 3UioN [Ig giell & |

Question Number : 188 Question Id : 7532295854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e @ A I 91 aTed Yo e &
Options :

1. % o7 Al & S R HRIHH T gl
2. % J§ T AT 3 T SHrRAHH T g3l
3. % 1 g1 g Qi S Srdchd T g3l
4.« TR A 3 3R HAHH TH0F gl

Question Number : 188 Question Id : 7532295854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e § S & a1 9Teg Igad are 82
Options :

1. % To7 Ay & S R HRIGH T4 g3l
2. % T9 T A 3 q9 HRIGHH JHH g3l
3. % I g1 g8 SHfAfY 3 Srichd e gl
4.« T A S 3R HRIHH T g3l

Question Number : 189 Question Id : 7532295855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed § I ®F 91 a9y IRd ardd g2

Options :

1. % gern Jdt 3ufey 98 W UiaaifiTdr | e T81 81 bl |
2. ¢ TRI&M & HRUI I8 Wl WAIRTIT & 1 = 81 HepT |




3. % e ot fos a8 ufaaifar & =nfie = g g
4. % gg UfAIRTar | <IHd = g1 IbT auifes Ut ot |

Question Number : 189 Question Id : 7532295855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & § o 91 9/ IRd 919 82

Options :

1. % Tier ot s9fory 98 Qe ufenfirar & 2nfire 2t 81 o |
2. ¢ URI&T & R 98 Wdl Ui J =nfire 9 81 91|

3. % We Y fo ag ufaaifRiar o 2nfie = 81 urn|

4. % gg ufcrfiar & =il 9 81 9ot wiife wier ot

Question Number : 190 Question Id : 7532295856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ifes iR T R Weg & ot fov o g o1 v fovan ST 82
Options :

1. ® 3y favm

Question Number : 190 Question Id : 7532295856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T G SR T FRUP eg & o forg form forg b1 vt foba et &2
Options :

1. % 3req farmH

2. % 31g favmH

3. ¢ Ol fog



4. % (T fug

Question Number : 191 Question Id : 7532295857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafafed # 9 gaue &1 g S A8
Options :

1. = *

2. % 0

3. w 2

4.9

Question Number : 191 Question Id : 7532295857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed o ¥ g9ue &1 fug & a1 g2
Options :

1, = *

2. % 0

3. H 2

4.9

Question Number : 192 Question Id : 7532295858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 a8 3, o U ¥ e Ug T g1 o ¢, IR I 3 9 ¢, 1 g ardl 82
Options :

1. ® Uq

2. ¥ Uqay

3. % DPRDP

4. % Y



Question Number : 192 Question Id : 7532295858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTed P18 371, Fo 9 U 31 Ug e giax 31 <, W T 314 7 S, 1 drgaral g2
Options :

1. ¥ Uq

2. ¥ Ucdy

3. # HRD

4. % Gy

Question Number : 193 Question Id : 7532295859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 B B VP 1 a1 FEl 82
Options :

1. ¢ BTSN A G&IDI ! & I U
2. % BT - TXID| I & 9 Ul |
3. % BESM A Yol d A I Ug |

4. % BHES TP &) 9 I ufgu|

Question Number : 193 Question Id : 7532295859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
399 P 2D Y I 1 I L B2
Options :

1. ¢ BTSN A GXAP| ! &1 J g
2. % JEATS A TXID| Pl & 4 UGl |
3. % BEISM A GXID] Hl AH A UG |
4. % B TP ! A I ufgu]|



Question Number : 194 Question Id : 7532295860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g FADR H IRIH I8 7| 16 & Sifchd 3= & e Sugad g 81T -

Options :
1. % g&t
2. # xifbd
3. ¢ dichd
4. % Ofwdd

Question Number : 194 Question Id : 7532295860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g PR H TR X8 1| AT o X@ifohel 3I=T o foTy Iugard RTeg BT -

Options :
1. % g&t
2. % Yifdd
3. ¢ dihd
4. % Tfwsd

Question Number : 195 Question Id : 7532295861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9% U4 9 Y dTdl Y S1d g1 HRl| AT & R RIM & foly Sugerd Weg BHTI-
Options :

1. ® Hr

2. % Ay

3. % fipe

4. ¥ hYH

Question Number : 195 Question Id : 7532295861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TEITHY I A I I Tl BaTl a &b Nad R & fofg Iuged Wsg ghT-
Options :

1. %

2. % g

3. % Ay

4. v HH

Sub-Section Number : 2

Sub-Section Id : 753229367
Question Shuffling Allowed : Yes

Question Id : 7532295862 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

39 & g & SUTd & HId YU & STAH I S YT ST § S SMRIHT Hed o | 98 3+ Uad Tl gidT | S Dls ST H Tl ol §
3R I HR ST 11l § b Fal &y 7 i S| 9 39 3l 31 WA §idT il a8 die offdl, S IR g1 9 39Tl g9 &1 dife d ol RIF 4a
H1§ 3G & [THTT H T8 RIF I8 B 8 | 4T & TT T 3BT BT Il MR 8| HT &I UHR H1 8ldl &, T ST 3R 8= qred |
3T Y 8 ¢ ForaH g8 [T e 81 o o a1 g9 Tohaft oot o ¥ g 3=y &1 Ug o | 1red 4 98 & forad for srarn # a4 8
I ST A §9 T8 W fH! I1d RO GRI W Uga- &1 e g

SWRIGd T & YR W FHfRad usi & 3R gIfv|

Sub questions

Question Number : 196 Question Id : 7532295863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SFHM & 3TYR TR G a1l Y T Healdl 5?2
Options :

1. % gd

2. % 3dle

3. ¢ 3RIBT



4, % 3R

Question Number : 197 Question Id : 7532295864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 I ol I&Y YT BT 7, a1 &1 T 37¢ 3 [t g2
Options :

1. ¥ 35

2. % 3IRM

3. % 3MTRHI

AT

Question Number : 198 Question Id : 7532295865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{TRfeRT T faRiel 1 B-

Options :

1. % Qpl

2. % IR

3. % 3dTe

4, % Al

Question Number : 199 Question Id : 7532295866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1Y fora UHR &1 gIdT &2

Options :

1.V a

2. % G

3. % IR

4. % T/g




Question Number : 200 Question Id : 7532295867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T T 3R -

Options :

1. % S{HYRU

2. % S[HId

3. ¢ dI-gdd

4. % HpTHSD

Question Id : 7532295862 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

39 & g & U & HId YU & STHH I S YT ST § S 3MRIHT Hed o | 98 3+ Uad Tl gidT | S Dls ST H Tl ol §
3R I HR ST 11l § b Fal &y 7 i S| 9 39 3l 31 WA §idT il a8 die offdl, S IR g1 9 39Tl g9 &1 dife d ol RIF 4a
H1 ] 3G &b [THTT H T8 RIF I8 HBI 8 | 4T & TT T 3BT BT IeeT MR 8| HT &I UHR H1 8ldl &, U ST 3R gORT q1ed |
3T Y 8 ¢ Forad g8 [T e 81 o o T g9 Tohalt oot o X8 g 3=y &1 Ug o | 1red Y 98 & forad for srar # a8
I ST A §1 T8 W fh! I1d RO GRI G W Uga- &1 e g

SWRIGd T & YR W FHfRad usi & 3R gIfv|

Sub questions

Question Number : 196 Question Id : 7532295863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SFHM & 3TYR TR G a1l Y T Healdl 5?2
Options :

1. % gd

2. % 3dle

3. ¢ 3RIBT

4. % 3RA

Question Number : 197 Question Id : 7532295864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 I S YEY YT H1 |, 991 81 Y& 3fic I fraamnt 72
Options :

1. ¢ I8

2. % 3R

3. % 3{TRIP]

4. % g9

Question Number : 198 Question Id : 7532295865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3(TRfepT T faRIh H1a 8-

Options :

1. % QT

2. % IR

3. % 3dle

4, % oIl

Question Number : 199 Question Id : 7532295866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y fha UHR F1 811 82
Options :

1.

2. % 4

3. % IR

4. % Trg

Question Number : 200 Question Id : 7532295867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ST P 31 B-
Options :

1. % 3[HIYRT

2. % ST

3. ¢ QI3

4. % HhTHD



